Reg. No. :

yde No. : 12670 Sub. Code : GMEC 6 A

B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2018.

Sixth Semester
Economics — Main
Elective — ECONOMICS OF MARKETING
(For those who joined in July 20 12-2015)
Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.

([ eramugen @umer
\ urenfluh Qelge (<) Quimgmer

() SeTey

(b) Product
(d Size



Gm Qararapse Qeveut  sans@ Coamewid GETLSET LT 8§ STene
Smasg @UTIHLSHnaTILLD @Gy efpueenureriliib M) - (<) 07>

. ﬁ € -
GUITTRISl6TTe) <IHM(EH (@) <peuenrd () umss

erenml Quwi

9 fL_ QameTpHe0 Lievapenat Qamerapidl :
(=) @M (G (=) @ h Refrigerated warehouse

(@) Milk (b) Wood
(¢) Articles (d) Cotton

(@) vravLy Qerdrapse (F) @UUBS QamaTpg

When the buyer purchases all his requirema iy
from one seller is called

(@) Concentrated buying elemD LILD 6TEmTe

G0
() Scatered buying (1) qumgid (=) sy
(¢) Mutual buying (&) Qsus (7)  sHsT
(d) Contract buying is known as advertisement
a ..
LéGaum edsorear SleTallc) DDA Quim(m L #en e ( iy et (b) commission

Seeg G GHIUILL durwamar o1 Sl (€) message (d) subscription
GO @Lgded AERICET anan il o ‘ _

B B ) ellepeveunar opmid Hésanors CLTs@erss euld?
(1) sreve CUTEGUTSS)

W) Breuf

(=1) QsmeTpgen (=) eSlpuenen

(@) oamdriGse (F)  udiey

refers to the bringing I '
a variety of goods of different quantition ¥
large quantity of similar items

) @i Cuns@earss
hich is

h cheapest and quickest means of
insport?

(a) buying (b) selling

(¢) assembling (@ distribution Road transport (b)

Water transport

Airways (d) Rail transport
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) &l HLienamuTeTTT FLOG) Quim(meTHen

AL LuweTHSSID QempEaT  H@ID  Grem il aupRIsL_@ cuflen Ggfley Qe 2 gaib sryeflser

BGD (<) apens wHmb HETCaunt
(@) SieoLwimand (@) ovenflss G () usins i pGfee pu
(@) eauafss GHlue () Gurdlay (8) Fmpeuand
A seller uses word and numbers to identify ths (") @ an 4
(3] é‘l@@ﬂ(@;@m

goods, called as
(a) Brand (b) Brand name
(¢) Brand mark (d) Packing

The choice of distribution channel is affected by

(@ Market and consumers

Product i
, - . . and middlem
LIGTL_&$ S BSH'LJLIHSIEJBSGTHGUT uswﬂs;m U_IITGU)G\J‘? e

Company
(=) Ceafis@n GLoeuss
All the above
(<) eNanaeurd) flaniiBiEse

foeop  dipumen e anigems

@) @i apywimd Hf eishl Crise ,

(F)  @eneu SMETHIID
What are the functions of the warehousui I gDt (=) @eser

(a) Storage facility fl) &Crssn (%) sl

(b)  Price stabilisation @ word “retailing’ is derived from the lang
uage

(¢) Risk bearing and financing

" French )

(d) All of these Latin

Greek )
Page 4 Codea Nlj['_,;_j (&) Tamil
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PARTB — (5%x5=25 marks) (@) poe aamiss Quui@sder Gua
DL SHEmET

Answer ALL questions, choosing either (a) or (b). e
HES.

Answer should not exceed 250 words.

11. (=) spergudar Gsrpnsas sl Explain the features of goods branding

State the evolution of marketing. Or

Or
(=) srLu@sEsIs0 LHMID umEILOSSRISEE e Cw

(=) FBDS soaneuudier o L gnmisenar F(HSSLOMY ik
2 erar GaugiumBaer wreneu?

Briefly write the clements of marketing i

12. (=) Cprgys & mhLememuda GprésmiseT wimanai'? What are the differences betwe
: en

s . st isati .
State the objectives of personal selling. andardisation and grading?

Or ' 15561

) euprsd auflpanpudler WSS eibd wmeneu?
() @uionppys ualser LDl TGS
What are the importance of channels of

Write about functions of transfer HorVM
distribution?

13. (=) CuEEETES e LamTsmaT 6.0l |
Or

What are the functions of transport? =

A - Qi yhismguien srssmsmean @GOG

Point out the advantages of chain stores.

What are the objectives of snlow s
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(=) Gun&@mggg CUMESHEET F(HEHSLOTSE 6l 6Te &6

PART C — (5x8=40 marks)

Answer ALL questions, choosing either (a) or (b). Briefly explain the classification of transport

Answer should not exceed 600 words.

16. (=) sposlimaLs Lugyib S G LPE DI Or

HHESONS 6H6THEGS (o) o
2 eTbuFsSlen o L smmiser HmLE :

Briefly explain the approaches to the atudy _ s SRS Be

: BenenLogHenar alleumd).

of marketing.

- Discuss the elements of advertising and its

(<) BrLigen UTmeTTSmy auanirEfluder sbangulin) benefits.

Liiang Qeuefl&CsmenTis. , g . .
(1) uaLs sTULSD uaTelle&aEmTD F([Hs. LI &

Bring out the role of marketing in econts sTULSSHET  ‘cuamsser  HmID L
SEnEIT

development of a country. SlourSssajtd

17. (=) Qsrerepse Qeiicufléd 2 erer SlyLomisdnsl &

i Define warehouses. Discuss the types and

functions of warehouse.

Discuss about the problem faced hy

buyer. Or

Or 5 . . :

) cuanaILIRgsaler LCum cuamasamer Men&@s.
(=) @em Sln_L_ele Bamenio, Eaminaenai i (Yl
Explain th .
State the merits and demerits of nuuek , plain the types of grading.
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20. (<) Qe blee apaseurfiuder cuensLILT(H&el
clerd@s.
Explain the classification of middleman.
Or

(=) Hdwap elpLiear Qaupd Gups Cpemaiund
STyentl&ener Qeuef&QamenTTs.

Bring out the essential requisites for suces
in retailing.
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(8 pages) Reg. NO. ¢ cmimsinsii Macro economics is otherwise called as

Code No. : 12654 Sub. Code : GMEL (a) Income theory (b) Price theory

() Demand theory (d) Theory of firm

B.A. (CBCS) DEGREE EXAMINATION, APRIL 40 . . .
pefenr  Guilue Qurmeu@IEsTer AL

Fifth Semester SADLESILIL LG
(1) absedlamme (<) Sermeveumad
Economics — Main
(@) evbigHarmed ()  miagedlenmed

MACRO ECONOMICS —1

The foundation of modern macro economics was
laid down by

(a) Hicks () Keynes
(¢ Smith (d) Marshall

(For those who joined in July 2012-2015)
Time : Three hours Maximum : 78

PART A — (10 x 1 = 10 marks) @orss o dTpm_© e-Huss - Ggullored =
(o) By edmpm G epusd

(=) Qurss Celu 2 pusd

(@) oorpriGepuss

() @we prl 2 HLIGS

(3ross Domestic product — Depreciation =

(a) Net Domestic Product

(b)

Answer ALL questions.

Choose the correct answer :

1. Cufwd Qummeflue ——
Sim&sLLREDg.
(1) eu(mLoTens Cam_um(

(<p) efaned Cam_ur® Gross National Product

(@) Gaamaeusd Gam_ur® Domestic Product

Foreign Product

Page 2 Code No. : 12654
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The concept of effective demand was first stated
by

(a) Keynes () Ricordo
(¢ J.8.Mill (d) Malthus

GreTm @ BTLiqEn Glgwigorini:
26y Qe 2 erer (p&E e smefwins @)@
(<) NNP

(<) QeweiL §568 GU(THLDITEITLD

(@) GNPmP _ miETey ETOSSH® IO (HSEGLD.
()  SefBLIT GUHLOTEILD (=) Ben () 5 B

is one of the most useful to . . |
analyse the performance of an economy. (@) epdu () @b srOSSQID

(a) NNP (b) disposable ind Consumption  remains constant in  the

(¢) GNPmp (d) personal incu

(a) longrun (b) very long run

(c) shortrun (d) always

ghuGd  wrmgeame |

Ceuameufenanio er(HDE!- |
: . APS + APC =
(=) sropoosaf (<p) cumemfiuigdld ' . . .
(@) eHusd peopwde () @anal il _(!&) LR S
@ @reand (7) BbE

Seasonal unemployment arises due to cha

(a) climate Zero (b) one

(b) trade two (d) five

() pattern of production snefler QUGBS LTS QUEHEEWLTELD.
(d) all of these ) W50 (<) QuEUTL
Aemerayerer Gaemeus Gamium_reang) (@) efwmumy () Geuened Hlene

e (pgedidr EaPULLLE. n’s multiplier was multiplier.
(=1) &emed (<) MesmL.m a) investment (b) income

(@) Cg.erav. WBled ()  LomEBaE | s)  business (d) employment

Page 4 Code No. : 12654
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10. MPC -én wduunang Lieuibd eafle, K-eéb |

(=) 1 (=) O

@ = (%) 10
If MPC = 0, the value of K is

(@ 1 ®) O
() @ 10

PART B — (5 X 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b
Each answer should not exceed 250 words.

11. (o) Cufiuwd Qurmalugissd Qgefleuran i
B(HS.
Give a clear exposition of macro econoi
Or

(<) Cufwe  Qungafiue GG (P
Gaeneuulenan aflaméEs.

Explain the essentials of macro ecoll
approach. |

12. (1) Qewel 558 aupLOTELD - GBI GT(RSI%:

Write a note on disposable income.

Or

Page 5 Code No.: |




(=) Csflu  eumwrens samsQsGinder  LoGaumy

D@ (S (LPENDSHET WITENE ?

What are the various different approaches of
national income estimation?

umes  ste  Ceumeulamanwenwinyb, &6
Geuamerufamenwenwiid CeumiLi(H&gs.

Distinguish between seasonal
unemployment and cyclical unemployment.

Or
2WHs Coemauuier pslwusgeusHeamans sans.

Narrate the importance of effective demand.

misies srider LeCeum smhmiseT wWreameu?

What are the various propositions of
consumption function?

Or
Bisteys srider anur®samer @GOG s.

Indicate the criticisms of consumption
function.

Qu(psHufen seysaT wmaneu?
What are the leakages of multiplier?
Or
whHsH Camlumig 6 Sl liLenL

D@ LOTETRISENET LIL_Ig w160 (H&.

List down the basic assumptions of
acceleration principle.

Page 6 Code No. : 12654



PART C — (6 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b)
Each answer should not exceed 600 words.

16. (=) mewanflued Qumpeflugyb, Gl
Qummaflwgyid ereucuanauiler Ceumiui(dlam

In what way micro economics and i
economics differ?

Or

(=) Cuilwed  Qummeflweler LFLGQUDMmeI!
cleuflga.

Describe the scope of macro economics.
17. (=) Csflu eumwrens sews@aGlidd o drer (i
Qewe s Asswsamer lleTsHEs.

Explain the major practical difficulties i
estimation of national income.

Or

(<) swsmu  sansSligen  LOGeum  [Hlanw
allens @s.

Explain the different stages of
accounting.

18. (=) ebs cuiflgartled Sevrav Gl g
Ceuema&Camum’iqenan FTH&EDTT?

On what grounds Keynes criticizes cla
theory of employment?

Or
Page 7 Code No.: |



() Geulden sy, el wrg? eipen gL
T HGamerseT wWreneu?

What is Say’s law of market? What are its
basic assumptions?

pstellmar <flsfss Cup@smarer Gouanrig
BLaulgEamasamer 6lons@s.

Explain the measurers taken to increase
consumption.

Or
misie]  BrlLgdenan Ervreflsdlemn  yss
&myenilEaner Ll g el (s,

List down the subjective factors that are
determining propensity to consume.

) eugmLTenL) Aupsssdar  Aswdapapulenar
2_FTTERTSEIL 6o @fﬂmés@a;.
[lustrate the process of income propagation.
Or
| wOsH Camlum iger geanur@smen ellems@s.

Examine the draw backs of acceleration
theory.
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Reg. NO. & i
Sub. Code : JAEC 11

(8 pages)
Code No.: 12978

(@) afpuemensdpear
(<) Gy 69 pLiener

(@) efpuenans Hper LH e
(m) salulL ATSWP®D

Advertising is sometimes defined as

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2018.

First Semester
Economics — Allied
PRINCIPLES OF ADVERTISING
joined in July 2016 only)

Maximum : 75 mar 1

(a) Salesmanship
(b) Personal selling

©
(d) Personal appeal

Salesmanship in print

(For those who

Time : Three hours
PARTA —(Q0x1= 10 marks)

Answer ALL questions.

Blaupdle geny ASCI — an glenemt iU

,m) PTI (<) CCC

(@ NECC (w) ARAI

Which one is supportive organisation for ASCI?
PTI ) CCC

NECC (d) ARAI

Choose the correct answey :
1. efembunid eramig
(1) Qun@dTa;dT_ug')gf)\ il Qeiiceug)

() QLT uhHw FoAEmS®L FHLRSSS®

(@) (=) wopd () GO
(7) @un@ﬁ_as@é;eﬂm_@u_l Gunligew gHUGSHIM

Advertising 18

(a) to make known of goods

(b) build confidence in the goods
(c) both (a) and (b)

(d) competition between goods

i) Gpmwerr (<) dyens
$CrésD () @esSer
e word advertising is derived from
Roman () French
Greek (d) Latin
Page 2 Code No. : 12978



ife) BL_ESST eQaTbLIFLD o GTETL &GS (RETM
(1) CriGsm_(H s (<) Hpieuar uems
@) AeufsSlen eUens (rF) ‘I_'bﬁ)&m'_{ﬂ LS

Which one is proved to be the most powerful
media for publicity in India?

(@) Newspaper (b)
(0 Radio (d)

Television

Both (a) and (c)
ghgl P'éser erhs cuenraln s LweLhEsL Hdlang)
(1) eflerbuy paed

. . ha
Blue star advertisement contains suc

(a) Straight line type (b) Institutional type (<) eflembLiy seuGymi iy

(¢) Narrate type (d) Testimonial type (®) pumarsgsd (W)
c {

Q&g &iq Hmiser
. . !'Five Ps" can be used in the drafting of the
A I i

‘ o , GDESQ’)QW @m@aﬂg}uun®@n L :

sfambursHen uoGaip ¢ (a

i advertising copy (b) advertising posters
@euaumy e pUUT

(1) e @TLDLIT B&HE (p) gl

@) S ehou (w)  wrdfl Grd
The arrangement of the various elements §
advertising 18 called as

(¢) sales letter (d) mail letters

Wilerouy eure] — Geevey HiL b eraeier Slig LIl
i) e pusd Qeaay (<) smyanfl Qsevay

) eflpuenar Qeeey ()  BliTeurss Qeevay

he advertising budget is based on
(a) advertising copy (b) layout .

draft (d) blue print Production cost  (b)
() drafts

Input cost

Selling cost (d) Administrative cost

ot ré&ems HlrawrudiLieur wmr?

) e pusdlumert

aup e e @pHuwreile eQaTbuFLd @Eu:.l@.l%ﬁm
ot @ T STSEILD Grevy) ;f;\gj@ﬁ]ésa;uuL_@mw@ | |
il GrLew (<) Cuemert
) e pusHCuoeomert ()

(1) Qeggmar efpuener Guoamenrt

(<) anm@asm;éﬂ ) makes advertising decisions?

(@) CmgGwm
() (<1) HOID (@) @ranGio |
Page 3 Code No. : 11l

~ employer (b) manager

product manager (d) sales manager

Page 4 Code No. : 12978
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A. (CBCS) DEGREE EXAMINATION,; APRIL 2018.
First Semester
Economics — Main
STATISTICAL METHODS — I

(For those who joined in July 2017 onwards)

je : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

yemafludlwevmed

(21) a@sub HlBE6s @pgub

(=) aesd ‘Qdena’ eramm Bl(HIA&EE LD

(@) (<) wdpib ()

(F)  ergla|lcvene

Statistics can

(a) prove anything (b) disprove anything
(¢) both (a) and (b) (d) none of these



(<) @@ Hops efanduy igey — Qsevey S L e

cﬂmq_uumpaseh wWIreneu?

What are the essentials for a good
advertising budget?

Or
(<) efembuy cupey — GQ&wa L sHlan sjeuslud
HoiId Sigeflarn PESHLUSEQID uHdl Famis.
State the need and importance of advertising
budget.
(=) ofemibLiy apaseufler uanflaeer uhm eflems@s.
Explain the functions of advertising agency.
Or
(=) eflemibuy (PEEIENT T AEICNINE ey
BEL(PEDEET WITEneu?
What are the procedure of selection of
advertising agency?
PART C — (5 x 8 = 40 marks)
awer ALL questions, choosing either (a) or (b).
Answer should not exceed 600 words.
(1) “eflembumd peien amaflugdlar oWl — @I5s
@ULib” — efleundl.
"Advertising is the life-blood of modern
business" — Discuss.

Or
(<) GQeuaflyp efembLiglern LeoGeum  6JlqeUmIGET
upd efeurd.
Discuss the various forms of outdoor
advertising.

Page 6 Code No. : 12978



17.

18.

19.

(=)

(=)

(=1)

R Eppe eembuLiy BaEeSle LaRTL 6T WiTe

What are qualities of a good adveil
copy? :

Or

BOULWeT Daflésemiqw eflembury Besama il
swmflingi?

How to preparation of an al
advertising copy?

2 Loy efemburgdlen woGCaugy el

um efeurd).
Discuss the various forms of indoor pub
Or

Wleaney engen eflenbLigisaiar peania
Sarwuleman LpH allaréss.

Explain the merits and demerits of elut
media advertisement.

eflerbLiy eupey — Qeewey S L wpenpuanil
eflfleuns eflend@s.

Enumerate the methods of advar
budgeting.

Or
Page 7 Code No. 1 |



(=) @0 elanbuy auay Goway b auanyuus

(=1)

(=)

Gurgl amsder Qarerar Cavemq s snyenfisear
Wirene ?

What are the factors are taken into
consideration while drawing a advertising
budgets?

eflemibLirapseuit GTEOT meD GTaten ?
eﬂmthurjgrn,r@é;@ Qoo assmsw LsbGauy
aufluded 2 sedlemen

What is an advertising agency? In what
different ways can it help the advertisers?

Or

eflembLiy  wpsauflen QUMSHAT  DHDID  oipanlatr
DADLOUILY WpanmsaT L) elflamd g,

Explain the organization and types of
advertising agency.

e

Page 8 Code No. : 12978




(8 pages) Reg. No. : eramug  Gemamenouden wp&dwwnman
i@ L.

Code No. : 12981 Sub. Code | F -
I sLOUu®SsISD () wafluwirgse
B.A. (CBCS) DEGREE EXAMINATI( | AL (M) @ordoassd

APRIL 2018. . .
1s a major function of the
Second Semester lgement.

Economics — Allied Controlling (b) Staffing

PRINCIPLES OF MANAGEMENT Planning (d) co-ordinating
(For those who joined in July 2016 ail 5 srs Hlflpssd —— S LA Bse
(b Semss LG EDE).

Time : Three hours Maximuii -
(e (=) Cumig dper auriips

PART A — (10 x 1 = 10 markn) _
Answer ALL questions. BbAyonen (F)  Qewenp

Choose the correct answer : _.I-“-.term planning is alos called as

1. —— sflefwd Guweomamaunilis

SifwiuGEmm. ‘Operational (b) strategic
(=) Quief (<) oman ‘tactical @) passive
(@) urwe (7F) | {.'.;..-, (H&ESE Gnlg LI DTH auflsaflelmbg @ wrhm
is known as flener Cgiiey Qeuib Qewdpeann ——
management. B
"- I_I_ - = .
(a) Taylor () Bged (=) uafluigged
(¢) Fayol (G (1P LoDz (F)  @mEfoarsse

Page 2 Code No. : 12981



thich one of the following is a non-financial

is the process of el
' pentive?

alternative from a number of

available. job security (b) bonus

(a) planning (b)  staffing profit sharing  (d) higher wages

(c) decision making (d) co-ordinuk
BET_UT 196 @ity wEseT el  Qewiw
HLoL |eudlérene?

i) X- Gsrium

siflswrer  prCeau@®ssn
uenr unenfludler S srsHwioTaBTELD.

(o) s@uunserdn (<) Stbla) il
() sieundany (FF)  epambitiin

Quick decisions are possible undar
leadership style.

) revGear Cam_Lm()
Y - Cam_ur(®
aglrumiiy Cam_umQ)
(a) freen—rein (b) intelluwk gording to which theory people dislike work?
X — theory (b) Maslow’s theory

Y — theory (d) Expectancy theory

(c) autocratic (d) demovn
auflens el (perpwireng
(=) fssoneng (=) éﬂaj‘.{nm
(@) s aefprearg (W) G

soeue GsTLiy wHn eumsude Wb Ms
Iy s&6u QST eramoyid SiHuiiLGEng.

Line organisation is - TPSEIL LTy (=) CrRepwmer
(a) complicated (b)  uneoum | (WpapwuhHp (F)  pepwren
(¢ very simple (d) allof communication is other wise known

Geteums  aps  @emprans LIl rfapevine communication.

wellggomELb? written (b) direct

(=) uwemfll urgismiy (=) omba

(@) @emud udliey (m)  siblam
Page 3 Coda

informal (d) formal

Page 4 Code No. : 12981
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10.

11.

12,

Answer ALL questions, choosing either (i

Unvében smeenoll LiewrL| erenug Fflw ‘@&Jé;@g,@STGbT

veCeaup Hevaulorer sienwliLs@nil .
Bndlevenps L@ — elaréEs.

@(HradlanenTiiL (il enem ||

(1) Up (=) =8 "i'_"'- leadership is an integral part- of
o T (") LGOI effective direction — Explain.

Co-ordination between different Lawgrssoeflggaer WPE&EHWLSS cus S e
organisation is ————— Co-ordinal; WeuaflsQ smemris.

(a) external (b) internal . Bring out the significance of motivation.

(¢) vertical (d) horizon
PART B — (6 x 5 = 25 marks)

Each answer should not exceed 250 wi

(=21) Cuenamen eremp GFmeedana ! r,
e goaue)  Qerimler  LoCam  eugeukiseer
Define and explain the term many

Or
(<) Cuerarenwuier LwGaln Flaasd

What are the different
management?

different forms of

Or

BtidlenanriiGen HssdsmeT pTmTils.

(=) AlLBIGgeNen apsfluisgiaid wing? alyse the problems of co-ordination.

What are the importance of planii
Or

(<) S OBgeSlen cuanrwenmaemen 6l

Explain the limitations of Planniiy

Page 5 ‘Code Page 8 Code No. : 12981



eapenn  si@ioliLy pempullesr  memenio
PLBSET UITeneu?

What are the merits and demerits of
functional organisation?

ring out the features of motivation.

Or

AfCsmit  CamLint i er GoDLITEsamear
L EHTL (5.

Point out the defects of Mc Gre gore’s theory.

- _-si)'iG],sm'nSle&T 2 S DISEnaT sa )5,

i dlenewrinSlen Qsmerensseaner aflend@s,

¥plain the principles of co-ordination.

Page 6 Code No. : 12981



PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (1)
Each answer should not exceed 600 wi

16. (=) CGuerarenwuleamen, Blreu
CoumuP&g15.

Differentiate management
administration.

Or

(=) e® aramfly @i
uriidlenan eflers@s.

Explain the role played by a ma
business organisation.

17. (=) e® poe Sl Bl sanpsman il
Explain the elements of a good pli

Or
() Ywydeu®ssaden Gamrdewkismen ||

List down the characteristic [u
decision making.

18. (=) Siewwiy wepuier wpsdwuisgie
Explain the importance of organiy

Or

Page 7 Code N



Reg. No. :

i No. : 12669 Sub. Code : GMEC 5 B

B.A. (CBCS) DEGREE EXAMINATION,
APRIL 2018.

Fifth Semester
Economics — Main
Elective —- LABOUR ECONOMICS
\(For those who joined in July 20 12-2015)

Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.
hoose the correct answer.
syaf] Caupd @o@mod @ HEL aEuUY
WgsimL 0 & maneD Qemflerariaer
9)) efleusmuibd
8,) GlgoE Qgmificoser

B) LETenemEET



A new class of industrial labour without repuld

(a) agriculture

(b) cottage industries

(c) ~ farms

(d) large scale industries

@pHureie Qsminerame QAgrifleomeriaer
(1) OmIeILDU L6

(<) @boebulidemos

(8) @Crsewiy

(7)) e mflurer @ooiEnLOL|L 6T

Industrial labour in India is

(a) united (b) non united
(c) one union (d) strongly umil

JrLIE(P eTeupmL6r QgLiiLienLuig
(=) Gsmpeoreri

(=) o pugBurart

(@) Osmferert 2 Hugd Spen

(r)  Qamfleomert smed

The Royal commission relates to

(a) Labour (b) Employor

(c) | Labour productivity (d) Labour wii
Code No, I

Page 2

Ligy—&rai” QFTifleomemiae eremig
() 2 2 anipliL] AgmfleraTiger
(2)) oL@ 2 anpliupm Qgmbleorarigar
(@) <o+ Gram@d

)

Qsmfnenena Lemflwimariaer

non-manual workers
both (a)+ (b)

Industrial workers

g Al gde  Sp  ueflumisdr  LHYIL
LIS LT (HE ST o mfwner  Ggm_feu
Bilumssd S L1b el
'  s FLibd

) @yarrLmbd il b
) eperpmbd b
) Bransmd Sl b
_'e_r which plan laid emphasis on a constructive
itionship between employer and employee

(o)
(@)

First plan Second plan

Third plan Fourth plan

Page 3 Code No. : 12669



Gurarewude Qsmfloreriser LbGULDISD
SiMLeugHETE eak@Gelss LG Edns)

(<) oifls 2 pusds Hper
(=) flsule @auub
(@) Osmfenert siewlmu ailfiubss

(m) &eps fHsans

Workers participative management shoulll

encourages for achieving
(a) more productivity

(b) maximum profit

(¢) strength of the union

(d) social justice

Qsmferani @ije UNSSTOLE LD @i

2 H
(1) 1947 (<) 1948
(@) 1961 () 1965

Employees state insurance Act was enactod |

(a) 1947 (b) 1948
() 1961 (d) 1965
Page4  Code Nou i}

EPF erenuig) eflanésio

(1) o_pLsHwiment CLTE) Hid
'_-.%) Qamfemeri QLTE) HlE

(@) cpusduran Caope H

() Qsmfemer G#oBH) B
EPF deﬁotes

Employment Public Fund
Employees Public Fund
Employers Provident Fund

Employees Provident Fund

LNGSTIL  GTemD QumgreT eSB!
) @Qwfss péHu s
) WETeveTEn <
) weoen LT b
@pBur
he term social security originated in
USA (o) USSR
UK (d) India

Page 5 Code No. : 12669



10.  Qsmferart Canpe HiFse L b @uibDpri L (=) Cuernarewuileo Qsmforart ukiEg GUMD

() 1948 (@) 1952 AL miser LHDH efleTé@s. .
(@) 1961 (%) 1965 Explain the workers participation 1in
management scheme.
Employees provident fund Act was enacted i o
r
(a) 1948 (b) 1952 ) . . . ,
© 1961 @ 1965 (=) @pSHuirele RaEdamenhs Geneairento

Semwinfer euaridd wHMD Sigan Uamfisamar

PART B — (5 x 5 = 25 marks) up leTé@s.

Explain the functions and progress of joint

Answer ALL questions, choosing either (a) or (h N o et ool ir lndies

11. (=) @pdurededr yHw Qgmbemarrsaetla

B e e e Qemierarsaier po Gemeusailen euamasmar
e U &GS

umi eleTéE 5.

Explain the profit the new workers in | Explain the types of welfare services for

Or Labour.

(=) eleusmw Qamflevrerigartlen @ Or
GHLAGHs.

Mention the features of agriculturnl W

) @re ungisTuLé s —1948-6 apsdlw smT
QurpLsaner LIHD s mis.

State the main provisions of state insurance

9. . T : |'
1 (o) Qamflement el Liawflaaman @il Act 1948,

Mention the functions of trade uniuisg .
| Qgmiflerert b (psauismer UHH GHILEHE.

Mention the agencies of Labour welfare.

Or I

(<) sl OCUT BerL_apapaEaner LHH! el

Explain the process of collective I (s

Page 6 Code Noy Page 7 Code No. : 12669



(<2p) gl HCUID GTeLg) Fnedeni ﬂfrmuﬁlé@m ¢2(H
(peD efeund).

Discuss collective bargaining as a method of
wage fixation.

(=) Opmpeoraris@Ehssre Qgm@LL o
LrgsTS g 6 QUL SMET S,

State the features of group life insurance
employees. :

PART C — (5 x 8 = 40 marks) @‘r_'r)ﬁu_lrreﬁ\d) Cuararenudle

Answer ALL questions, choosing either (2) or (), iﬂfﬂg;ﬁrz@ﬁf?ﬁ@ngﬁm@é@a pE

Answer should not exceed 600 words. Illustrate . the growth  of workers

participation in India.

16. (=) @EQ“—’ Qsmiemerigaf @l
2 HusHHpeusaTer smyawrblseT LipMH em..|.|‘ Or
Discuss the causes for law produ iﬁg;m;zif;tmifg :gng,gm - Cugy

efficiency of Indian Labour.

Discuss the various modes of workers

Or participation in management.

(<) Qsmflererisemer UTSEGD sTyeniisd i ) Qamfleonert peodHer Gud DHMID  ASDSTET
aumiitienu upd effleurs HeT&EGs.

What are factors affecting labour?
17 : Enumerate the nature and scope of labour
. (=) Osmflessrrpsman il Gl pa i welfare.

efleum.
Or

pomdamps  FPS LTGISTLLY AL gHle
syeudlwud Lipd efaul.

D.escribe the methods of setting il
disputes.

Describe the need for an integrated social
security scheme.

Page 9 Code No. : 12669
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20. (=) uenermi () Qgmemart @il
Gh&Cerarser wHmd gaflar Laiser 1
afleurrd).

Discuss the aims and functions of ILO.
Or

() @Buneiler sops LngsTIL B apennsd ||
afileur.

Describe the social security measuron
India.

Page 10 Code No. : 1



(8 pages) Reg. NO. : i Fixed deposit is otherwise called as ———

deposit.

Code No. : 12657 Sub. Code : GMEC @ Current ®) Savings

(¢) Time (d) All the above
INATION,
B.A. (CBCS) %%?EEOE;ECAM Yeimeu(meuamaupmieT g eumidluden (pseurm LerflumEn?

Sixth S ter (1) umgismiuy QUL s cugd)
X emes
1 (<2p) vemsdlenan LDTHMISE

(&) sl G GASwsHamar Qegussa

Economics — Main

BANKING THEORY AND PRACTICE (m)  pramu o s s st

(For those who joined in July 2012-2015) ‘Which of the following one is agency service of

Time : Three hours Maximum : 70 i

Safety locker facility
PART A — (10 x 1 = 10 marks) Remittance of funds
Answer ALL questions. Payment of insurance premium
Choose the correct answer : Letters of credit

1.  fAeveowrer eeuliy OO auensSler mfleuriidl wpenm Bleeab yspEubhng
aran S PEEILGETDS. W) @rdanpse (<) Wmendle
(=) pety ) =Qussreda ()  @pdumeie
(<) Gofluy it banking system was most popular in
(@) s

() Cupsadliu Senadgin England (b) France

America (d) India
Page 2 Code No. : 12657



ot

ety amdeaar WHSLH ke @ el

GTETL u : 1 .
Ui (pepp ———— T SIP&ESILGEDS. s ngisTUUTer  Spaila

(ybemg)u_lrr@[o,
(=) Qurgsdme

(<) foliys Epe

(8) @rie s 8pe

() QUL saTéE e

(1) Slaner oumidl (pen
(<) gafl abdl oD
(@) Qi eurudl poD

) seoli eumidl pem
(rF) ) Safest form of crossing is ———

The banking system which combines (Iu_ B Generalc )
banking with investment banking is known N rossing  (b)

¢ . Special crossing
(¢) Double crossing  (d)

(2) Branch banking system a/c payee crossing

() Unit banking system fhy  cidlurerg  ‘@olflud’  eukd

BIGDLDSSHUILIL L g7 Sl
(¢) Chain banking system ) SBI
(d Mixed banking system 5 (<) RBI
ixed banki G) PNB &
" ¥) BOI
SpsETL GTHS GEDIEIZ LOTODI <peuamTLo gl '-"ch bank was called as imperial bank?
(=1) snGsmene (<) wrHmES () SBI () RBI
PNB
(@) & ey 188 (F)  2mHCwnpii (d) BOI
Which one of the following is not a W flerey  oumid) L

instrument?
(a) Cheque
(b) Bill of exchange

(=) 1959

(©) Fixed deposit receipt .mof India was nationalized in the

(d) Promissory note 1969 (b) 1959

1949 @ 1958

Page 3 Code N Page 4 Code No. : 12657



10.

RTGS ereiuigt

(<) Real time Gross Settlements
(<) Reduced Time Gross Settlements
(@) Rela;;ive Time Gross Settlements
() Real Total Gross Settlements
RTGS for means

(a) Real time Gross Settlements

(®) Reduced Time Gross Settlements
(© Relative Time Gross Settlements

(d) Real Total Gross Settlements

1Blenianig LIRTLD LOTHOINS — iD
SlouUBISILILL g).

(=) 1995 (=) 1997

(@) 2000 () 2001

Electronic Fund Transfer was launched i

(@ 1995 (b) 1997
() 2000 (@ 2001

Page 5 Code No |




PART B — (5 x 5 = 25 marks)
iwer ALL questions, choosing either (a) or (b).
Answer should not exceed 250 words.

p) eumidl erém LSEemen alleTsEe.
Explain the term banking.

Or
) LeCeum) eUMSWITET GNEULILISET WITenew?
What are the differernt types of deposits?
) safl aid Yop @I ETaTa?  Sa
 BETENLDEHENGT Fa s,

What i1s unit banking? Mention its
advantages.

Or
| G auridluder GeapmUTHsmeT &1 S&TL(HS.
Point out the defects of group banking.

L sLeT o (Bhaumdsd  erenm  Qemp@mpmflene

- elersEs.

‘Explain the term credit creation.

Or

enCamencavaafier LiCam euamssdr wTenel?

What are the different kinds of cheques.

Page 6 Code No. : 12657



14. (=) sLam sL_QUur® — HnEhuy epsis.

Write a note on credit control.
Or

(=) @bdwu  Meie autdlGer  Crrésmisd
Qgafleyiu(®&gs.
Elucidate the objectives of RBI

15. (=) Weenay HE ufwmbmd — GMULY T (g5
Write a note on Electronic Fund Transfer.
Or

(=) E — snGaapaulicm LILIGTEMET &a s
State the usefulness of E-cheque.

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or ()

Answer should not exceed 600 words.

16. (1) eumudluler genemri Liemflsaner Ol euar]d e

Bring down the subsidiary function of b
Or

(=) ekdlseian opafluggicusdanan ellers s
Elaborate the significances of banks.
17. (=) &lener auralgl penpufler It
QgafleyiuBEg!s.

Elucidate the advantages of branch I
Or

Page 7 Code No, !



(<) sl eumd panpulleaner aflerdw@s.

Explain the mixed banking system.

(1) BL6T 2 (HheunEESE6 QUENTLIEHMSET WTeneu?

What are the limitations of credit creation?

Or
srCememauemuyd  eumdl  waflelen_emuiub
CaumuBh5&15.

Distinguish between a cheque and a bank
draft.

Q@ eueTiHg eu(hd Brligenr  Gum@meTmsTy
auariESludlenar Cubu®sgeudla aww eurndufen
uidlener efleumd).

Discuss the role of central bank in promoting
economic growth in a developing country.

Or
' @‘r_r;g%]u_l Mgreu eumidludien srsanansemar 6T (Lpa)s.
Write the achievements of the RBI.

Ifleran curiidludlen GenpUIT(RSET Wimeneu?

W.hat are the drawbacks of electronic
yanking?

Or

:Tﬁh‘m@] B8 uflwrpnsder  penawsmen
‘;g_u‘rruh&;.

nalyse the advantages of EFT.

Page 8 Code No. : 12657



Reg. No. ¢ e

L 2 12979 Sub. Code : JMEC 21
8) DEGREE EXAMINATION, APRIL 2018.
Second Semester
Economics — Main
MICRO ECONOMICS — 11
f those who joined in July 2016 only)

 hours Maximum ; 75 marks

'PART A — (10 x 1 = 10 marks)

Answer ALL questions.




Example of Joint supply ge fixed cost

(a) Bricks and Cement
(b) Radio and Television

() | Pen and Ink Marginal cost curve cuts it at lowest point

(@) All the above It is equal to total cost

Fall as long as output increases
it is 'U' shaped curve

@eiiy Apdpefls Qau ealiGuTgD - UGuUMLE  Qswey Qs e
2BGLD.

(21) eflifvenp (2b) wggauii
(@) Cprwen () qamanm efilhag
The co-efficient of elasticity of supply iu
(8) Negative
(b) Zero iable cost
(¢) Positive ix

(d) Greater than 1

syrafl flavass Caway
(=) 2pusd sifasfsge Bare sraddld
(%) @gl U g Y @JGU)GTT@SSH’@ G;ﬁrraseﬂu_l 5ITU'_IQ_|

() @sar Gopps ydtelulan @i
auamenGar( Qeul_(Hibd

(F) Gorgg Aeeesiing Qg swd

Page 2 Codo Page 3 Code No. : 12979



AR curve under perfect competition — )poly means

(a) Slopes upwards Few sellers
(b) Slopes downward

(¢) Horizontal pingle seller

(d) Vertical Large number of sellers and buyers
b6t LommILIT (R @sen (p&Hw Anliubad <Y GID.

Qs eumeumi = Qorgs DD DpE —- pHoNew

(s1) v et ey Gumiig

(<) @eomud ponfewol Cu iy

(&) epuene @ apanars Gumig

(7) Qeovay it differentiation is an important feature of

Total revenue = Total number of un lonopoly

lerfect competition

() Price onopolistic competition
(b) Profit ilateral monopoly
(c) Sales ! . -
BTG wWrhenLw Geamoussns GegusstiLipin
(d Cost
S wpomiflentd ereLg ——————— (<) eapy
(=) fe eflpuevemnumar 80 e LD (F)  Sieoliy

(=) @newr(h ellHuenemuImeniv 8 the payments paid for the services of

(b) Labour
(d) Organisation

(@) e elhueatimert

() v eurmiEGCaun HMID GAHCLNT

Page 4 Code Nu Page 5 Code No. : 12979



10.  erglitumyng Dieusy QEweSHEh&ETS LO&SET @

e g, g donss  wppd  @odfee  apemi
ueanTLd eeudSH(mEELD efl(HLLILTaIS).

Camupsss.

Distinguish between Total Revenue and
Marginal Revenue.

Or

oo fewuler Smvamar smésiwons TG,

(=1) Guy Cprasid

(=) penCenssfaans CHrésid
(@) eoas Gprésbd

() Ao Cprasd

The design of the people to hold cost hull
unforeseen contingencies is
(a) Transaction motive bflenew CLgsSen Hlenaven Ners@s.

(b)  Precautionary motive Explain the degrees of Price Discrimination.
(c) Speculative motive

(d) Other motive ; -
Curinuie BHmeuand  wHmb

PART B — (5 x 5 = 25 marks) swhlenassmen Bupgamerseanars

Answer ALL questions, choosing either ()

Answer should not exceed 250 wordi industry | under monopolistic

P ' Zpetition.

11, (=) :;ﬂf;r(r;qu Qeaefilen il ) gt - W i el
Explain the significance of Opporfy
Or

(=) Penavss wHMWL wrmb GsowelpHainet
F M.

Or
NIt cTetTg) o LG eremp sharews sMmsdaan
.g';@g;,

State the relationship betweun iXplain the modern conception of rent as a

and Variable Cost.

Page 6 Code Page 7 Code No. : 12979



15.

16.

(31) QOTUSHET CUMSHEET GT(LPSIS.

; @peiu Gurlguie  sgref  eugmeuml
@ @anGsr®h  wHmID Sndflerew  aumeumil

Write down the types of profits. oG g GuihGear .

Or

(=) Qorusder QuisHaad Gam L @ Eixplain and illustrate the nature of average
Qs revenue curve and marginal revenue curve

Write a short note on dynamic Il
profit.

PART C — (5 x 8 = 40 marks) eTeuGUT) eflana

Answer ALL questions, choosing either (n)

price  determination  under

Each answer should not exceed 600 wurl
onopoly market.

(=1) esgnafs Qge) wHmb Qwrgss Qgwna) .
chleng@s. DPflena ysasHner Gam_Lm e Semiie)

. . LIS,

Explain the relationship betwusl

cost and total cost.

Or

(@) vaGauy by Howsaid syl
aumeumis CamrBsar erliLilg. siamndl

Pitically examine the marginal productivity
ory of distribution.

Or

How the average and margl
curves determined in differen
conditions?

mniGLreller eumps Gami_uim_eni cNersgs.

iitrate the Ricardian theory of Rent.

Page 8 Codoe Page 9 Code No. : 12979



19.

20.

(=) wrroAlliyg s&eds Carlurt e sy
Analyse the subsistence theory of w
Or
(=) “sacllufied Goumun®” - efleunss.
"Difference in wages" — Discuss.
(=1) Qeomu @it CamlumlenL Speni iy
Explain critically the risk theory of_
Or
(=) sre eflmuus Camun® g wHinif

Evaluate time preference theory ul

Page 10 Coda




Reg. No.:

de No. : 12658 Sub. Code : GMEC 63
B.A. {CBCS) DEGREE EXAMINATION,
APRIL 2018.

Sixth Semester

Economics — Main

INDIAN ECONOMY

(Ior those who joined in July 2012 — 2015)
Y'hree hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.

uose the correct answer :

lreller oids Al eipsHpsenar sTyenrd

el wdlelemento

05 GO DU

1Pt epL BLOLNEESET

J#hGLIEHETSESILD



Reasons for high birth rate in India

andlsdar oifs erelleonar &L ersamar

: GauaTTaRTenLOS FIDEE cuipIGSlampan.
(a) lack of education

(b) joint family system

(<) el imy &rmo
(c) social superstition

(d) all the above

(@) euemlls (F) s ®

banks providing highest credits to
iy e anp 9 i agricultural sector.
LI(HEUSTa el

QuiduTs BHESDSI-

co-operative ®)
(@) Qgmle (<) Gouemmamenio

regional rural

commercial (d) developmental

3 i Gmm‘l
@ e B SR b  wrheob  fss  GEODHS
Seasonal unemployment is a characterinbils e wwnrdudsHns?
sector.
WG Sl

(a) industrial () agricultural ) widudpCsed (&) waDTITEYLYT

a) 1 _ kS |

(© gservice (d) internationu\ L y) LDGMﬂl—“aL"' (FF) GRITS

c

HHFLOWID, @S G\L;Jrrgg, Cgélu  ai(ninis

= PR
Geuenmamantd L@ CHTPILILONS

Madhya Pradesh (b) Maharashtra
40%
(=) 50% (=) Manipur (d Gujarat
7)  20%
(@) 30% (i T
. (HLOLS mflbareney
At present the share of agriculture in (e e Gesm_rasii f@@
GNP of India 18 nearly
(@ B0% ®) 40% SQissmalder (<) reywneien
a ()
© B80% @ 20%

Gggioafiufe (F) @rdeorbder

Page 2 Code Now b Page 3 Code No. : 12658



Rourkela steel plant was set up with (1]

Gpdunaler  gHsran®  HLmser  @anEsD
assistance from O —

Qg eumLESILHSDG).

(a) America (b) Russia (=1) H8ls Gupaiamme

() Germany (d) England (=) B siemwéssssme

(@) A& Euelama

Dm&EEng
(=1) 15 egeispons (<) 20 ezeipons (r)  Gygwyme
(@) 25sz6eiswns () 30 sgeiprs In India five year plans are formulated by

The share of services sector in the work

population is ——— (a) Finance Commission
(a) 15 percent (b) 20 percent Ministry of Finance
(¢) 25 percent (d) 30 percent Planning Commission

@pHu Grulle Graneu 2 _cdldy — (lila T

@evemTlienU 2 L WG|

(d) Prime Minister

(=) epepTaIg) (=) Brensmalg)

. . W) 1965-68 —
(@) Qrawneugl () gbsTeug (=) 1966 -69
Indian railways is the ——— largeab 196770 (FF) 1968-71

network in the world. lin holidays is

(a) third (b) fourth
(¢) second (d) fifth

1965 - 68 (b) 1966 —69
1967 — 70 d) 1968 -171

Page 4 Code No, 1 ¥ Page 5 Code No. : 12658 °



PART B — (5 x 5 = 25 marks) (=) OpQsmfe Hyeuanbisaien euamssmar samis.

Answer ALL questions, choosing either () or (b). State the different types of SSIs.

Or

(=) OmGsmhedr Hmeuemsaflar  Gopumbhsmar
el ema @,

Answer should not exceed 250 words.

11. (=) wareuersSlar LOCa CUMEHDETE FaDi5.

State the different types of soil resources, Explain the short comings of SSIs.

(<=1) CursGarsg @E@rdmearidea Cprésnmser

wreneu?

Or

(<) @b GHLU pod HLLsder GopLIE

WwiTened?

What are the objectives of transport
co-ordination?

What are the short comings of Indian fi
planning programme?

Or

(<) AHDE cueTRISENET QUMSILITHSENET &n ).
12. (=) Gouermenranlo cuarisflulen Bewr sma i

State the different classification of energy
QoueN&Q&TewTTS.

resources.

Bring out the long term problen

(=) Hlrbdhsasster Suflugenans snmis.
agricultural growth.

State the need for planning.

Or .
r

8 ag gmhstan® HlLsdear Crrssmismen
L g wiedi(hs.

(<=p) Geuermamentoudiey @bl
DS TETETEUTSBISHEET cAesH @GS

List down the objectives of 8th Five Year

Explain the arguments for mechanian
Plan.

agriculture.

Page 6 Code Nai § Page 7 Code No. : 12658



PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words.

{

“Lv . . .
16. (=) @pHu  GunerTsTy Gm:‘burn_qev @wibeni

17.

(1)

cueTmisefen Liridlemer efleums).

Discuss the role of natural resources in (he

economic development of India.
Or

(D&HGET QzmensL Wig&aanenl

pdu

SEIEPLOSENGT ellends@s.

Explain the nature of population problen

India.

@pHu  Geermamenioufer 2 Hugdl
G@DEUTS @HULISHETET STyeRThIsaT uiflumil
What are the reasons for low productivl

Indian Agriculture?

Or

Page 8 Code N |

(<) Ceuermairenio

(=1)

(=)

aantls  cumiflseflen

Bl

uBiflenert < ymiis.

Analyse the role of commercial banks in
agricultural finance.

SnQgmfle Flmieu e s @nésTer

SITTERTBIGENGIT D TTULS.

(SSI)

Analyse the rationale of Small Scale

Industries (SSI).
' Or

G\ LTSS Amious

Asmblperenesaear Lndmer eleurs.

Discuss the role %f iron and steel industries
is Indian economy.

Qbdlw Qs Teuekrig

Y r&senensenar T(PHIS.

Gunéeurgden

Write down the problems of Indian railways.

Or

UBISIGaGT Caflwowiomssiii L ger Crnésbigar
WITEnaL ?

What are
nationlisation?

the objectives of bank

Page 9 Code No. : 12658



20. (=) @pHw pbsTaTH AL msaflen Gopursamd
Ner& @G5

Explain the defects of Indian Five Year

Plans.
Or
(<) SLLBzeded @Qpdwu S swasen Libidbland
elaurl.

Describe the role of Indian Planni
Commission in Planning.

Page 10 Codo Nin



Reg. No. & s

0. : 13097 Sub. Code : SAEC 21
ICS) DEGREE EXAMINATION, APRIL 2018.
Second Semester
Economics — Allied
NCIPLES OF ADVERTISEMENT — II
‘those who joined in July 2017 onwards)
e hours Maximum : 75 marks
PART A — (10 X 1 = 10 marks)
Answer ALL questions.

ke the correct answer :



vertising is suitable for
Advertising is a/an

Reader
(@) Investment Listeners
(b) Environment . Viewers
(c) Game All the above

(d) None of the above
BTG EDLD (LPSELOGHIL (Lp&6dlEd Blmiefwieur

SlemeumeuameubmieT ergl elembuiy LL-Glgt ()i B el B Lindow

(=) eMpuenar ez6is (pam B icsiun
(<) Cprésid wpmid Qewdipeanp e
(@) QsrCGurlumert Qswel(ib aa| i Bflesain
(/) Copandlil Seaisgin

jcultural advertising was first introduced by

. . * ?
Which is a method of budgeting? B oiney B. Palmer
William

Edward

(a) Percentage of sales method

(b) Objective and task method

(¢) Competitive parity method

(d) All the above
awug’ ety  glgea  Hemryie
eflembugmigar QuThSgaug

(=) Gpwrser I@‘r_r;g%]u_l efleToLIT (PHELD SLO&LD

(<) seualliLetEaT | <0wflés eflambuy wpamw swsd

@) . Mg 6l efambLy pamL SLELD
UmTUeUT&eT
Bleowau ggifivrena

() Gupamdlu enensgb

Page 3 Code No. : 13097
Page 2 Codo Ny



'‘Advertising Age' is an official publication ol

(a) Indian Association of Advertising Agulh lich is not one of the stages in the

ing - isi 2
(b)  American Association of Advertising Al ing - decision process?
(c)  British Association of Advertising Ays

(d) None of the above

Purchase decision

Post-purchase behaviour

; eflem s Qufw eNeri
@pdlunelen S’ GQuilu ellarbuy s Problem recognition

(=1) umps eflembuy (paenLD
(<) sODBHIE efenibLy (a6 Cultural factors
(®) aflpgicvsren snbsear GRS

(FF)  prgevgmen eflambLir sLpsLD

rEe GCamadl
The largest Advertising Agency in Indin |
(a) Bharat Advertising Agency - adadd
(b) Tamilnadu Advertising Agency  FTURL Se
(¢) Hindustan Thompson Association

CLall_ger

(d) Rajasthan Advertising Associalio
concept DAGMAR is associated with

Russel Colley
(1) eummigEe STDmaD
Drucker
<)) uUMThERIHS Wbasw Qewd

(
(&) YGrégamenen 2 eurige Robertson
(

FF)  SOTESTY &ryenflser Davidson

Page 4 Code Nu
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10.

WSS H&aI gL mien Flene PART B — (5 x 5 = 25 marks)

Sl pUsHgeTeL ier ALL questions, choosing either (a) or (b).

8) Qewddpe ch answer should not exceed 250 words.
FwO S per

(

() eAfliiyemriey

(

(rF) Gmg’)&@mc@{mmggm

eflerouriiuBsgiIzer  pe-Uewey  puieder
(Wenmeni e 6TdEs.

The stage of commercial communication | . ..
g HcatiOngy Explain the process of advertising budget.

(a) Conviction

Or
(b) ~ Awareness eflerburliu(BsgiIser  upey-Qewey  epiieder
(¢ Action WPESWSSIISMS H(HRS H(HS.

(d) All the above Brief the importance of advertising budget.

AIDA gs8l7i ereinp LsECHTE Qs o il - eflarbur paed LHi GO er(pgs.

Write a note on advertising copy.
Or
- eflembury peadlen auflens il giIsme H(Hs.

<) eflembuy L QgL
<},) eflarbur eu

@) =18 eSlembLyd
Give the classification of advertising copy.

(
(
(
()  eSembLiy p&e

efleToLT GuUEPTLIL S GUMTLMISS, <Dialbhbler
- UMEFHET HL_()&. '

The term AIDA formula is connected witly

(a) Advertising budget

() Advertising tax Define layout and indicate its types.
Or

eflerbuy euanguLgdlar Caaneuanw efleresEs.

(c) Internal advertising
(d) Advertising copy
Explain the need for layout.

Page 6 Code Noy| Page 7 Code No. : 13097



14.

15.

16.

Beva elleTbuy Baedlen &@dsem wmene?

(c2) & b i akin(f e et oieuenss e o™ Yl What are the qualities of a good advertising

Explain the types of advertising appuenl copy?

Or
(=) efaribuy Hmena EANIRE Or
WEEWSFIUS®S HHRES B(HS. - eflemibLiy paadlen SbFmsamean elleurd).

Brief the importance of evaluntii

advertising effectives. Discuss the elements of an advertising copy.

(=1) ellembuy paemwuller sjenwliliene olurk aflambLiy aueTLIL SLimtienss clenés.
Explain the structure of advertising uj
Or Explain the preparation of advertising

(=) efembuy  psemwew  Csiey layout.
seuatdsler Qamerer CousmTig wiena it

What are the points to be considorgil Or

selection of advertising agency? . . .
p) efleTbur euanTUL 2 U ghmsener adeu.

PART C — (5 x 8 = 40 marks) Narrate the components of layout.

) anised Cpréssms Stonafls@n sryaflsamer

alleurd).

Answer ALL questions, choosing either (n) i "

Each answer should not exceed 600 waiils

Discuss the factors influencing buying

(=1) eferbur L Cgl Gsway penpsaat Wl motives.

Explain the methods of advertising I
Or

(=) ebarbuy UL Gsal e Srwmerfléein i
clllaul.

Narrate the factors affecting il
budget.

Or
- eflembur Spenar Hemel(HLD (P DSEET IS,

Analyse the methods of measuring
. advertising effectiveness.

Page 9 Code No. : 13097
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20. (=) efembuy paewuler Lianflganer e e
Explain the functions of advertising

Or
() efarduy gpsawouder Caaeusemar Lil' il

List the services of an advertising uy

Page 10 Code N



Reg. No. :

de No.: 12659 Sub. Code : GMEC 64

. (CBCS) DEGREE EXAMINATION, APRIL 2018.
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Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

gose the correct answer:

QETeTNS, Qumrg) BlSlullen
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principle is the base for publi Which one of the following expenditure is an

x example for productive expenditure?
inance.

ini ial advantage (a) Educational expenditure
(a) minimum socia

(b) Defence expenditure
() Maximum social advantage

(¢) Retirement benefits

(c) Comparative cost advantage @ All of these

(d) Maximum individual advantage Qung§ Qemay 2 HLsSH Genar
QU HHudar GpsTar QELDsHT ADTHSID (=) oflsiédampar
Qar(&sluL L gl (=) Gopsdampen
(1) LméoLan (=) BP0 eobld (8) (=) wpmid (<)

() (=t) @dvemar (<) @evane

Public expenditure

(@) UUGEDI_IS]@ () wevdHCrey

The major functions of public finance are gIVH ! the production.

(a) Increases (b) Reduces

Both (a) and (b) (d) Neither (a) nor (b)

(@) Dalton (b) Adam Smith

(c) Bastable (d) Musgrave
e Flwimen
Qemeu(pd @ aeva e @haT eThE GeTmnagl &l g

; B ihGgienrésiul L g).
s : 58 SHBTLL-MGLD '
ainilip AERSIEG RR ) AssriGLreflame (=) Spibevlgdanme

WTTagedleme (m) Yeeeanme

(=) soeldssmar Gewe]

(<) ungsTLISHETE Qgea) (nons of taxation was propounded by

1
| Ricardo (b) Adam Smith
. Marshall @)

@) @uia &I LIGOGSIGEIT
= Pigou
(w) @ea S@arbgd

B Code N Page 3 Code No. : 12659



The most ext
auflwneng Crrps aufld@ @b 1 S (T xtreme method of debt repayment is

GI'@(&';Q]&EBSH’I._I_W@L.D.
(a) capital levy

(@) Qummsar (=) Gu(mHLOTET
(@) edpuemer (7))  Qurstunse (b)  export surplus

tax is a best example for direct tax. repudiation of debt
(@ Commodity (b) Income refunding
(c) Sales (d) Entertainment > ey

3 . wrgsglen smLd Geuemar prefler euray

SITFTRISD ———— SLersanenll QLDaTD. dewva, Sl L iorang) Hréed QelwiuGpg).
(=) Qaualipr@saiiSlnbs) (=) Gugeuf
(<) pafipuirsallBlGHS! (F)  @lipe

(@) andfsail®mbs)
(m)  emareufiLBl(BrHs)

The Government may borrow from —— January )

February
(a) foreign countries (b) an individunl

March g
(©) banks @) all of theso @ April

4 ALDDTEGOD — cul'lg. CEQISE amsse
Qungys sLaflanar SHHdu QeasgieuBaeian Ml
Rl

(=) eposarafieddny

) umeuml LHDTEGED
) UL Glggl UbOTEEGenD
(=) ohmwd euf
(@) sLman LYSEHS5D
(m) wgHdiGse

Page 4 Codo Noy

tpersen Lippnigenp

Page 5 Code No. : 12659



Fiscal deficit — interest payments = (1) aufll — cuermum SABe PEALEESS DS F D5
(a) Revenue deficit (b) Budgetary deficit '

(¢) Primary deficit (d) Capital deficit

Define a tax. Mention its importance.

PART B — (5 x 5 = 25 marks) Or
Answer ALL questions, choosing either (a) or (b). (<) Cprigps euflsefien panaviosear L1y Wl (.

Each answer should not exceed 250 words. List down the advantages of direct taxes.

11. (=) QumgHSuden LFOQLIE@ESET WTEal? (=) Qurgs sLaflen Seudluslmans sags.

What are the scope of public finance? State the essentials of public debt.

Vs Or

(<) o FELILE  FPSTW paanLOS Gami it s 4
@mmun@a;mm &0 015 (=) eeET( Qung&eL_aferm semsamaT QenéEs.
State the criticism of the principiw Explain the burden of internal public debt.

maximum social advantage.
aure| @Fee S L 1D GTENLISENET U6 '
12. (=) Qungé Qeevay  GTEIDITED GrauTent’? <16 SlPLILILDERISEET 5—,155. pwmi. Gogib

CUANBEHENETE a5
What is public expenditure? State ila 1§ Define budget. Also mention its features.

Or Or

(<) eueTTEs WDHOID cuerirsd gmgm Gaaull
Caumyu(H5815-

Distinguish between developmentnl
developmental expenditure.

aumeury Qeeilleamend ppeser Q&Fevef enauyLd
Camu®sgis.

Diffjerentiate revenue expenditure and
capital expenditure.

Page 6 Code Noyd
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PART C — (5 x 8 = 40 marks)

. =) aufl i ssedlan L ,
Answer ALL questions, choosing either (a) or (b). (=) Bapedlor udGa eigsenar alloTsEs.

Each answer should not exceed 600 . Explain the different canons of taxation.

16. (o) safluni A, Qurg  HEHSED 2 dird Or

GaupurBaar wreneu? AL
(<) aufl srl@b Hoemear unHsdlern srrafsmen

What are the differences between prival® Qsafleuriss

finance and public finance?
Elucidate the factors that influencing

Or
taxabl ity.
(<) @@ GuaT(Hd QuTmETTSTTSS & Quimgy Bl gl e
LIkISen e <LTmls. (o) Qungs siaflem euamsEMET 6T(LPGIS.

Examine the role of public finance in

developing economy. Write down the different types of public debt.

17. (=) Qurgé Gseelarmise < Hefsg uma il Or

STTETEISENET D FTLIS.
Qurgis sLaflen  urssorear  cdepareysamar

Analyse the causes of growth of pulk :
SIS,

expenditure. .
Or Analyse the adverse effects of public debt.
(<=4) Qun@a:rrrg,mj Gubur@ LD[j)Q]Lb. fat..lllt._lhlutlﬂ ) oflories
G THETELD Bgmer Qurgl& (ol ihetd

BTEEHEIGMET GlaTEHEGS. @) HHoupprégon

Explain the effects of public expenditure
economic  development and eean)
stability

({) eumeurl UHDTHGE®MD

i . 1
Page 8 Code No. : | Rl e
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~ Explain :
(i)  Fiscal deficit
(i) Revenue deficit
(iii) Primary deficit
Or

(<) 13-eug Hé Gpelan Llibgienraear &0 61 i

Explain the recommendations of |
Finance Commission.
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PART A — (10 x 1 = 10 marks)

Answer ALL questions.

e the correct answer :
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A shift in the supply curve towards I e cost is equal to

shows AFC+AVC (b) TC-TVC
a) decrease in suppl
o e ; @ (2)and ©
(b) increase in supply . Q

(¢) unchanged supply

lurmener s(seors edhuemen Gelud Gurg

(d) none of the above i eumeuTuied erHLIEHID LTHHLD

@@ Bpeend 2pusd eagamd Qeiuing

OImHiblene eumeumii&E FLoLd
S| SG0T |

. ) anrefl eumeumisa@ §100
(=) Qursg Hleanewstawe] Ligeluinms (i)

(<) Qummermary QeTuLd Lissdluinms (U
(@) Quwrss wrmib dFwey Lmaaluins g
(F)  Qursss Qewey LRelwiwms B)ma@nih

If a firm does not produce any outpul {{s

R.GHTENLD GU(HEUMIISESE FLOLD

Biomen.Mwemel ergleyh Garane

nge in total revenue as a result of selling an
onal product is equal to

(@ total fixed cost must be zero marginal revenue (b) average revenue

(b) economic profits must be zero ¢! income @) ede GifEllIS

(c) total variable cost must be zero e genaenio Bmicuand spSHLg)
(d) total cost must be zero Hlennbs Qpdpsdumw siefliys Csm®
grneflg Qeoa] eremLig

(1) AFC+AVC (<) TC-TVO

(@) %QC— (%) (1) Wl Biopandlwene eTglald Geene

_mm;bg; QApdpsfluinm Ceemeus Car(
fleopie ApApsslupy siefllys Gan®

Page 2 Codo N Page 3 Code No. : 13094



~1

8 are the payments paid for the services of

‘Land (b) Labour
Capital (d) Organisation

A firm that is price leader faces

(a) perfectly elastic supply curve

(b) perfectly inelastic demand curve
(¢) perfectly inelastic supply curve Lol cnev’ eTenD HHSSHILaT QST T enLwig)
(d) none'of the above 1 wo@en Curly (=) SaGeont wpmfamw
Freungand smoas o (Heuméd el ,i'.-’ @eui Gum_iq () Blewpayts Gumiiy.
(=) pmYengen (<) Gabuiiala erm group equilibrium is related to
(@) srupCeucd ()  rTag -
Monopoly concept given by

(a) Robinson (b) Chamboerli

(¢) Samuel (d) Marshall

Gumell eunyseng el sseu L
(=) enepCeudvaan (=) ablsaev @)@ O BlEsuLHD SerenLo

(@) wrTage () Y flLimmermgmy LrHDD

‘Quasi-rent’ is given by appmifenwo Flene

(a) Samuelson (b) Hicks |

(c) Marshall (d) Pigon {knight explains profit in terms of

fisk and uncertainty

oardlwitd eraug) wimmanlw Geaneuda i il .
s onomic change

) tlegree of monopol
(1) Hlewb (<2p) - 2_ampiily i e

(@) epasgad (rfF)  cianiniig
Page 4 Code NI
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PART B — (5 x 5 = 25 marks) ) Bleopey Gumiig SIhI&TIg uferr iy Queysamer

L ig wel(s.

i I ither (a) op | .
Answer ALL questions, choosing ei List out the salient features of perfectly
Each answer should not exceed 250 woril competitive market.

Or
. Q WwHMLL  wrmD
1L (=) g:f;vj@g@:l)m ol ) poHmifentn aeorun.  uGeumy  euamswiTar

ponflentenw Mers@s.
Distinguish between fixed cost uml

. Define monopoly. Describe different types of
costs.

monopoly.
Or L Cuned  eumpid Teleunn  gHU@S g TETLIENG
(=) egmefls  QeweysCan®  oer ‘L euTLIL_gdl6 &) emewTu)L_cim eflerdss.
2 _gTemg)? Explain how quasi-rent is determined with
Why is the average cost curve ‘L' sl the help of the diagram.
Or

Qudflene %585 Sman Camum@)
LD i1,

Analyse the marginal productivity theory of
wages.

12. (@1) fleopey Cumiy oykismguler Anii
Ul g wel(Rs.

List out the salient featurcs af |
competitive market.

Or 6L 1 & meo Brenwo lmiu  Cemlum en.
(=) wpoofieow  Apaasdea ARl G
Car@aamer ellersses.

Describe the AR and MR curvo of
firm.

Page 6 Codo N



(<) @erugdar Hlegsuopp  HlenesGon il
SIS,
Examine risk bearing theory of profil

PART C — (5 X 8 = 40 marks)
Answer ALL questions, choosing either (a) o

Each answer should not exceed 600 wors
16. (=) Hlewmeys Gumilg @@J@mg@@ (o
wHmIDd Beir e Fnbleneoenl 65l e

Explain the equilibrium of a |
competitive firm in the shorlen
long-run.

Or

(<) womfenn Blmeuand BerTLsmemd iyl
sresdla Fnblened Qmeen 656 i

Explain the attainment of equilibli
monopoly firm in the long-run and ul

17. (=) MssmrCLredern eurys Camiumani. dlji

Critically examine the Ricardian I
rent.

Or
(<) melerm aumrs Camumligener Speinim

Critically examine the modern §
rent.

Page 8 Code Nwy

) &6l Bd& Com’_Lim iy e spésLTE oMo @e.

Briefly explain wage fund theory of interest.

Or

) Qsmfip  shsmsar Qsmflh  sopdd e

LOLL BiIGmET 2 Wnggieudled eThe atay Qeumd)

STE (Pl LD CTERTLIENS < TTU IS,

Discuss how the trade union can succeed in
raising their wages in the industries.

| aul g hener L ar BH& Cam_um_ent_ derdgs.
Explain the loanable fund theory of interest.
Or

- Qaomugdear @ndflea &HESen Cami_Limp)
um i edeu.

Describe the marginal productivity theory of
profit.

Baruggler 2 mdlliLmg erepLo STBIG LD
Ga;rrL;um'_lq_emm eeur.

Describe the uncertainty bearing theory of
profit.

Or
Page 9 Code No. : 13094



(=) @Qemusdar  Quss Bl  Gsin Ll
dmammie/er FUEGHS.

Examine critically the dynamic th
profit.

Page 10 Codao N
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ISTICS FOR ECONOMICS — 11
ose who joined in July 2016 only)
s Maximum : 75 marks
RT A — (10 x 1 = 10 marks)
Answer ALL questions.

{8 correct answer :

&LILTeng) @enL_ullév

D +15@W0 (=) —1&@t15E0n
b, O--&@D ()  wlubng

of correlation lies between

(b) —1and+1
(d) invalid



a_L_GirrGg)m_r'rq Gun&@ P &Hes @565]61) ISIL (D) GTERT 6T GTE0TLIGuT
LweTLHSSULILS) ) syreflsar

(=) smroQwisafiame (<) el

) eraflw spnafedr
(@) smoLafeme () Guenal '

Regression was first used by —— L Apliy eumiipg symeflsar
(a) Karl Pearson ()  Spearill

gngmyent synaflser

(¢) Galton (d) i

X numbers are
arog Qs euflans puieiefe df
DADTEHSID averages (b) simple averages
eossILEADE. ‘gpecialised averages (d) normal averages
(1) yeluRwed (<) et

Sy Cengamanseaarmen HlLbsamern

(@) ereicn (%)

In time series analysis, Poy x Py =1 () PoxHo =0
di ,

arranged in order B +P, -1 (%) Py - Py =1

(a) Geographical (b)

() Quantity G\ ditions for time reversal test is

HGeUSTE DOTDISEET Foi x Py =1 (b) .. Py x B =0

Qam_ryanLwg.

(é{) 5”@@@”@)[1_“_6‘0'[ (%) m(“("j.:-' Pol + PlO = 1 (d) P01 — PIO = 1

aeug @@ Haney BLULSHETE
0l Hlaprssharear eumilNeans GOSELD.

(@) UYES uPESEISEHL 6 ()

Seasonal variations are

HGey (<) o LemEsm_iy
i D556 () Qlemel DmensHgID
Page 3 Code No. : 1298(

(a) Climate (b)
(c) Habits (d)
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refers to the chance of W
or non happening as an event.

LIGBOTL | &5(6ThLD HenL_Quiwime Q@Qgrirry
(a) correlation (b) TeHMiE D& (5, HDSQuafle, i8]

1L 6T PSS LIRS DS,
(¢) probability () P Gélmg

(<) ediflen g
Bapsse Camlum’géd p +q = g1
(1) @an (<) wedil

(@) by (rF)  Bliremrubidg

In Probability theory, p + g =

issociation between the two attributes is not
18 known as

(b) negative

(d) none of these
PART B — (5 x 5 = 25 marks)

; " L questions, choosing either (a) or (b).

fwer should not exceed 250 words,

(a) one (b) zero

(¢) hundred (d) indetorm

ey Gefdenasulled B

Uig &&lenGmimd .
. . ILGna| < ieflar Lwersmer QeualQamemTis.

Q) 2 WIRISE@ETL

Fing out the uses of correlation analysis,

Or
O &sLuC Rerer  Laraf allupbis@rée Y
e X—en oL e Qsmiiy FLOGTLIMTL g anevié

) eTenLsemerLl

® ¢

QU(HLOTETSENS LI

(
(
(
()  unmfieneuubHm SeenLoudemmed

Is association of attributes we are nii

X Y
1 b gl
(a) height ()  weight s B
(¢) income (d) blindus
ofilevs g 70.1 1.6

Page 4 Codao PLODeys Qe =0.52
age \
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Give the following data, find rog
equation of X on Y.

X Y

GO O eramaafien GeammdAwitismar oflend (.
the characteristics of index

Average 985 12
SD 70.1 1.6 Vs
emarf] aﬂluuréja@é;@ QUTLDS &S

r=0.52 G5 :
blsewe; ML (O aaraeat Sianwés.

12. (=) srewant QgmTeuflas <gpuieem il QehiEdT  G.eTHT  GrenL
g 2_CUT6Y 352 48
What are the significances of Ll A :
analysis? umr@er 200 10

D L. 230 8

Or
(<) Qemaupd yerefl eflLgmsEpés op QUTL 60 160 12
B&HL srafludienand semrédl(Hs.
s 190 15

Speir(h - 2010 2011 2012 2013 20141 204

'nstl"uct cost of living index for the
bllowing data.

Particulars I.No Weights
Food 352 48
Fuel 200 10
Clothing 230 8

- Rent 160 12
Misce 190 15

o HLGS 15 17 23 18 27
(Le&er) «

From the following data, calculild
moving average.

Year : 2010 2011 2012 2013 2014

Production 15 17 23 18 204

(in tonnes) :

Page 6 Code N Page 7 Code No. : 12980



14. (=)
(<)
!15 (=1)
(<)

PART C— (5 x 8 = 40 marks)

., . . 5 (hdh,
Bapeflen noGaimy auamssamar eflors ‘er ALL questions, choosing either (a) or (b).
Explain the different types of events, Answer should not exceed 600 words.
Or PLHpelenarujid, o (e Qg Cunédlenemui
@@ euuie 8 feuliy, 3 Qeuetenar, | Capudsgs.
wpod 12 s@UY  Hp Ll

Differentiate correlation and regression.
@{@Jﬂ')@aﬂ@ﬁﬁ@ ) CeuaTEnaT A 1

By updenenr  QumeughsTar  Hlal Or

SHTEHTS. | ECyp Q&n@a’;a;uuf_@.ehm Leref] AymseEnss
' 5 Glas(Lpal) ; s

A bag contains 8 red, 3 white, 7 yall PLODeyS Gapelmens srams

12 black balls. Find the probability of

X: 56 63 28 38 42 63
a white or a black ball.

Y: 48 54 36 42 50 g8
U (Hpefemanyb, vty  Camdhmm

‘Find the correlation co-efficient for the data
Caupuhgsis.

‘given below.
Distinguish  between  correlafiu

X: 56 63 28 38 42 @3
association of attributes.

48 54 36 42 50 68
Or

' . Qgm_ieufans I
Qar@&stiu_Herer QS]‘UUTEJ&‘FG'ﬂQS]UW"N LGTeTL_SShsenen e,
SOOI CLTHTE TS SITEUTS.

AB=100; A=300; N=1000; B=600

Give the following data findout the
frequency.

AB=100; A=300; N=1000; B=600

Page 9 Code No. : 12980
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(<) lereu(pLd Lerafl o (B AAEAGIT
GpiGaniiqemer 1868Am  ouiss (I
LweL(HES QUTESSIs.

2008 2009 2010 201§

Calculate Fisher's index number for the
following data.

2010 2016
Price Qty Price Qty
12 10 20 12
20 5 22
8 12 12 14
20 6 24 5

Commodity
<p et (5
@eonuib (. 000): 15 18 23

Fit a straight line trend for the
data by using the method of least

O aw >

year : 2008 2009 2010 2011

profit (Rs. 000): 15 18 23 I o =oniie o DEyEer o> 7 sy
Bolubgisar o drarer. bl mig 4 smiy

18. (o) GO eramsaman siawlLSE)die BipLiupgisaar er®uILsDETer Bapsse craran?

QpFTUIS.
Analyse the problems in the coll
index numbers.

A basket contains 8 yellow and 7 black balls.

What is the probability drawing 4 black
balls?

Or Or

. B grafl  eNuprigseaiol( . ' _ . '
(<) Iﬁ]gu?l'(_@@ Gra:rmm P @G @LWd 8 Qadtanar wHmIL 4 Aauliy [N
6 2010 2010 UBgl&eT o dratar. 5 ubgIseT  Camymuiors
L1 GO 6T Aene> Siara edane ahEsLLRAamer. ameuseid 2 Houtigip 3

" 12 10 20 Qaudranamuyid, @ LiLisharen Bl&phasey ereran?
B 4 20 5 A bag contains 8 white and 4 red balls five
C 8 12 12 balls are drawn at random. What is the
D 20 6 94 probability that 2 of them are red and 3 are

white?

Page 10 Code Page 11  Code No. : 12980



20. (=) Gsisasuder LCoun cuanssanar 6l 6md e

Explain the different types of associatio

Or
() Demeumid LTI EEE®S G
Qapeiienans sarsd (s,

A=50; B=70; AB=38; N=90

Calculate co-efficient of association fr :
following data.

A=50; B=70; AB=38; N=90

Page 12 Code Ny



.+ 13095 Sub. Code : SMEC 22

) DEGREE EXAMINATION, APRIL 2018.
Second Semester
Economics — Main
STATISTICAL METHODS — 11
hose who joined in July 2017 onwards)
¢e hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.
e the correct answer.
@l bt wdlLrers erlQUTpGID
Bl Hen_Cui 2 eergy
+1 womib -1 (=) +1wHmbd 0
0 whmbd -1 ()  gGzepid Crimwenm
alue of correlation always lie between
+1 and —1 (b) +landO
0 and —1 (d) Any positive



@rarr(h wrdla@EpsdleanL G e el Hma, (Wi )b &m Qgm_Meir Teng  Clsmem(h) e senflEe

g ?

Cem(eer qeteom @enm  CEmi@GHLIn i Ggmmuﬂs&r@{gﬂ&aﬁmﬂuq

QameT(enLd

| Gsmdmi L Gunée,
(=) 1 (=) 0.8 - 06
CUETE o DM QM & & MhIG6T
(@) O (m) -1 .y _ =l
0 o 8ibs aHp Qnéstiser
Two regression lines cut each other at nigh ) ‘
when the correction co-efficient is equal {i) ds‘)erles, which of the following cannot be
licted ?
1 0.8 .
@) (b) Large increases in demand
© 0 d -1

Technological trends
ED&SEMTLUDMIET LIHEUSTE LOTmILITL anl
LwaTU(HSGID (LPenD 6TE)?

Seasonal fluctuations

Random fluctuations
(=) <ieny gpmedl panp

(=) Bo@w smefl (panp
(@) ereflu egred e

FF QUL (LpenD .
() @ o

Which one of the following method W 2Py

measure the seasonal variation?

(a) Method of semi-average

(b) VJLxP

(b) Method of moving average
(¢) Method of simple average

Ipq
(d) Graphical method (@ 1%

Zpoq,

Page 2 Coda Page 3 Code No
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gnewmpy Cersemer Hlamey Clewujd @iy
(é{) POIXP10:0 (é:JD) P01><])|()' l
(@) Py x Py =1 (F) Py, x Dy l

@il are the components of a time serjes?

One (b)

Two

Three (d) Four

e

0evg) B e arpu®eusnsmear blapgaaireng), A

Time reversal test is satisfied when

B < Hlenaiseflar setflggmeflimen
(@ FyxPy=0 (b) Py x 1y < p s saflem @l (s Qsrenswins B Lomemme,
() Py, x PlO =1 (d) P01 x Py | J & g6 @ﬁ“—'l‘i-mu';'—ﬁnﬁ.@@‘%@"b

£ . L genanpCwneny efleseh Blapsflser
@Eg, wperm ATHmeVLl ums ©

\ a6l wmenny elessm Blapsdgar
PEPDWIEIE) i g
(=1) pamDd eprefsEer eldsaparn FrTunD Blapesser
(=) <ieops synafl ppenm FnryenLw flaspalser
(&) BSefip QoL Gpop

(FF)  euenrUL (PeHm

@ probability of the occurrence of either event
B is the sum of the probabilities of A and B
‘events are

This is not the method of measuring sutill mutually exclusive

(a) Ratio to moving average not mutually exclusive

(b) Least square method index pendent

() Semi average method

(d) Graphic method

'.' ependent

srebei Qgmi euflangulien L@ sar ol (=) @ smpy Geuet

1ol e (<) @) (") @ Bapssaey

(@) apamy (rF)  mnang,
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The possible outcome of a random expurl | Sp&sem afleurhig@nséeE o e QgmiLuCurée

called Camlan it Qupys.
(a) trial (b) asample np x: 6 2 10 4 8
(c) anevent (d) aprobabilily y: 9 11 5 8 7

Obtain the two regression lines from the
following data :

x: 6 2 10 4 8
y: 9 11 5 8 7

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (i) o¥
Answer should not exceed 250 wordu.
: S )l |
11. (=) @l (Oney Qaqpeiier LaTLsame Gl B i
: State the properties of correlation cos
Or
(<) 8Cp Qar@ésiuul (erer yerafl  whl
srieQwrseaier 2 LenGgmiim| Clap &

x: 48 35 17 23 47

What are the defects of index numbers?

Or
| GTETELWITET &l L e wpeon Guogn 2008 2D
Qg HaTar GuSl QL emenamt SIMDESELD.
Qurmer  eblene 2007 eSena 2008

y: 45 20 40 25 45 A 50 -
Calculate Karl Pearson’s co-ollk B M "
correlation from the following datu § c . 10

x: 48 35 17 23 47 D %0 i

: 25 45 . .
y: 45 20 40 Using simple average method, construct an
~ index number for 2008.

3 b T @) T Gl
12. (@) 2ran Agmiys@d Ggmiy sommodity Price 2007 Price 2008

Ceumumr(Haser elems@s.

A 90 95
Explain the difference between y 7 13
and regression. = : 0

Page 6 Code N Page 7 Code No. : 13095



14. (@) @m euwlld 25 upgiser, 1 wpgd i
eraenll_ Ul (B @psSlearper.  wu
wernudled e LB TOSSILGSH D). Wl
DIV 7-6T DL BIGETET G(H  GTeul ¢ty
B m&s Hlapsse) wng?

A bag contains 25 balls marked 1 to ¥
balls is drawn at random. What

probability that it is marked with n 4l
multiple 5 or 7?

Explain with an illustration the Bay’s
theorem of probability.

PART C — (5x8=40 marks)
Wer ALL questions choosing either (a) or (b).
Answer should not exceed 600 words.

) @U_(HOmellen ueGeum euenssamar _SMTeursHe) 6o

Or aﬁ]méS@as.

(=) weler veamysefler Corsamss  (lug
sewr(hLlig..

(AB) = 40, (AB)B, (aB) = 33, (ab) <}

Explain the different types of correlation
with examples.

Or

) Qs Curé@s swetLinsamernts QL.
X: 78 77 85 88 87 82

Y: 84 82 82 85 89 90

Obtain the regression equation.
X: 78 77 85 88 87 82
Y: 84 82 82 85 89 9¢

Find out Yule’s co-efficient of assoull
attributes.

(AB) =40, (AB)B, (aB) =33, (ah) =}

15. (=) 2, 3 ees  @oOlGi 5
genr_Li(hdlammer.  iSle Qomrdmin
Qumieugnsaren Hlapsse] wrg?

Five coins whose faces are markml

are known. What is the prohald
obtaining a total of 12?

Epdaney)ib eleughisefellmpg 5 2, WT(N ST
B&H(HLD FFTef&6T SnenTs.

QUHLLD : 1999 2000 01 02 03
eflbLear (em.): 500 550 600 650 700
UL LD : 04 05 06 07 08
aflpuerar (em.): 750 800 850 900 950

Or

Page 8 Code N Page 9 Code No. : 13095



Calculated 5 yearly moving averago [ Compute Fisher's Index number from the
following : following data :

Year: 1999 2000 01 02 03 modity Base Year Current Year
Sales: 500 550 600 650 700 Price Quantity Price Quantity

Year: 04 05 06 07 08 10 12 12 -
Sales: 750 800 850 900 950 7 15 5 20
24 9 20
Or 16 5 . .
o . -
(=) EpssemeupbladlBhHs

CUTEMS I MDEHELD.

QLD : 2000 2001 2002 2003 2004 2008
@anuib(er.) : 300 700 600 800 900

) BsTCGeurt  eflane GO 6T &oT N GUT
sasdlHeudled o erer Apwrisamanr elons@s.

Explain the difficulties in the construction of

Fit a straight line trend from the il consumer price index number.

Year : 2000 2001 2002 2003 2004 K

' ) eLar Qg HD  uetryseflen  Carseams
Profit (Rs): 300 700 600 800 900 i

Caumu(ssis.

Distinguish  between ‘Association’ and

I correlation.

18. (=) Swssrapd  eNeurEGEREE
GO eranTenamT SETEHS (.

Qumper SligLILenL. 246010 DLl
QS]GU)GI) 9|66 6)960)u.\)

Or

) @0 <EMwum 280 wrameuisaf_ib Qewiz Dpuiede,
Qummafiued 160 Gub, safldmsualed 140

A 10 12 11 CGuemd  Ceraedwdpari. 80 Cui @yetrig e
B 15 D Cameraluybment Glummeflwie (oM mLD
C 24 9 safldmaud  Um_isefldn Garevalileenée
D 16 5 14 GEB@ID Lieim| 2 pay o 17
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20.

(=4)

(<) Plawsse Carhprismer efersg.

A teacher examined 280 studnl
Economics and Auditing are found ¢
failed in Economics, 140 failed in &
and 80 failed in both the subjccis. |§
any association between failure in i
and Auditing?

@)  emmlber Blspad whmib

(1)  sweumiliy Hlapssl euemmum.
yerefludwieler e samse A, 1, ('
wremreursailid sFiuGS Dy
Eigsiu(eusDane  Hlapgal
1/2,  3/4, 1/4  eraili
Snssiu(eusHaTen HspSs0| il

Define :

(1) Independent event and

(i1) Equally likely event
A Problem is statistics is givey
students A, B, C the chancon i
it are 1/2, 3/4, 1/4 respectivolyy
the probability that the prohil
solved?

Or

Explain the probability theorcms,

Page 12 Code N
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No. : 12984 Sub. Code : JAEC 31

JBCS) DEGREE EXAMINATION, APRIL 2018.
Third Semester

Economics — Allied

INTERNATIONAL ECONOMICS — I

br those who joined in July 2016 onwards)

hree hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions,

jose the correct answer :

EentGuiwiner GuiTemtILILD
b srerr i p&sULIOEDS).

| @iwepr(h
| b6 eu Tl S(enEE @enL Guiwimen
2 B (b

D _GITETHIT.



Trade between the nations are callud

Epeumidiy eufls Qsewey Carlur@

trade. : |
! ) (o elersaiu(Ens.
(a) International (b) Inter-regional |
(©) Domestic (@ Local (1) 2pu5H s igen

Lenenml_ () eumenfluid iy - ..
Gr@é;]g)gj, &DU,QSQ eumuLILY @JGU)GTTGBSHLIq_G&r

(=) Ceuarerrs L@LSlien ()  =rafliy eueerCam iq.a.
(éib) Qe Caugun@satier
(@) &Aooy GpiEdlufien

(F) Qeveu SIOSTSSILD. Production curve

International trade arised due to Demand curve

Production possibility curve

Supply curve

(a) Division of labour
() Cost difference
(c) Specialization

e (h eurenilusHed iy . )
(d) Allof these sanauiLns Qsrerens

Qandrens ereums GhssLLG D).
wwE Gewe| LD Gamun® — ) sghdly curanflug

Qar(HEsluLg.

(=) oniTagedened (<) MNosmiGLiding (<21) bgith (<ay)

b evLSilermed ) @ TeuTlanIeg 2
(&) <L Slaorm ()  Gamuimeilail B G 510 Gareran.

Absolute cost advantage theory was His

Iﬂ .
_..__3’ of non-interference by government in

' eign trade 1
(2) Marshall (b) Ricardo rade is referred as

(c) Adam Smith (d) Herberler

policy.
Free trade ®)

Both (a) and (b) (d)

Protection

None of these
Page 2 Code Naow I Page 3 Code No. : 12984



The main aim of import quota is to

ungsriLs demerens ear&& OGN SEDS)- (8) Regulate import (b)
! C)

Restrict import

Both (a) and (b)

(=1) g,msouﬁh_rrmmuﬂlmm

Increase import  (d)
(=) Gurligulenen Fnnodl winw @pseind Gsiwlig G ser
(@) ow snitidaen IDHMiLD Gaamaugsaflan

BI85 (@5 e Guwimes
Gauaas L@Ld@an Baupuin(y arar GG CUG S,
(FF) iE ' f@l eumenflL eHeL
Protection encourages . { ) eum . ‘;_f,] |
(@) Laissez-faire (b) . Competition (%) BT ( AsgisgBaew
a . . .
(¢) Self-relience (d) Division of lnhul 106G

. &S el Eldnt
ghigeufl ereng ——————— LI 8

~:I ) pogens sads,
auflun@Ld.

Ihe difference between the value of goods and
ervices exported and imported is referred as
. U_(ﬂ@ﬂ .
(@) apgd
(=) BpsEwHiern -
@) 96 HpaasBe @erusdda

(F)  Qunlsafien allpuear.

Balance of trade
Balance of payment

Foreign exchange reserve
Tariff is a tax imposed on

(a) Export (b) Import |
(c) Profit of a firm (d) Sale of comnu

Capital account

Li Sl .‘ﬂGMDUﬁ]@IGiTGTT g LiLIenL_& Fwiblena
e gHuGEng,.

W&s6T Lgmens wrhpsden

b) Coemouuden wmppgHen

@ n&ELEHL Lkiseredan (pseenowirar Grméail
(@) @nsEuidion pEREHH55E
(<) @néEodiama gL Qelicug)

(@) B@nsewiliemen SHasNiug

(") (1) DY (=b)-

) 2 pusHuQe o cirar LTHDS S 6r
) 5L wrppsSen.

Page 5 Code No. : 12984
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The fundamental disequilibrium in balance

payment is caused by (=) 558y aunrenflugfen penenwoaamar L g wed (.

(a) Change in population List out the advantages of free trade.
(b) Change in demand Or
(¢ Changein roduction . . :

3 p 2) sTULS Qematangufen L Geugy warpamar sams

(@ Change in investment
State the different methods of protection.

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b),

Answer should not exceed 250 words. What are tariffs? What are its types?

11. (=) uenem (b aunafiusSharear SgLien wil 0
r

What is the basis of international trada? ) Bré0il Lkiseredn G
umigerellen CETGamigEeT LTaney?

Or
(=) wemammi(H aunarfiugdan Qa{H HevaeT wimdinl

What are the evils of foreign trade?

What are the objectives of import quota?

) SIWOBTL( Oegisg Hlae — GO aTpss.

Write a not,
12. (@) papsQsaay pamamind Gam Lim i.amen ofldl note on balance of payment.

Explain the theory of absolule Or

advantage. ' 3.6 .
R0 DrLlgen OB (H Qegiss Blenaufgyérer

Gygren Qemisamens s,

Or

(=) Gpauriiiy Gsaay ey SHEH@a ofiel State the principal items in the balance of
ce o

Explain the concept of opportunity cusl payment of a country.

Page 6 Code No | Page 7 Code No. : 12984



PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (h).

Answer should not exceed 600 words. Analyse the case against free trade.

16. (=) wepr aureniluG S ane 2 _aIjhf "
aurenflLsHNmbe Ceumu(HSis.

Differentiate foreign trade from domy
trade.

%) cueniss) Gemhu prpsafed amiys Qarareansudar
Saudlugdenan efleurs).

Or Discuss the need for protection in UDCs.

(=) uemamm_( aumentluglen  HemenLosaman i
Q&mewTig. ) smseuflulen  eugpoTen uéliefar  Bsmer

Bring out the benefits of international { ' slenanafienan lemises.

17. (=) fesriGLrelfar Uil ® Qsewey GamiLin
cNleré@s.

Explain the effects of tariff on distribution of

Income.
Explain the Ricardian theory of compu

cost. Or
Or | eTeueuasuded Q&GS LI & 6T 6U TEoTg)
(=) Gapurer Casmiumiiger  cuanyulifl &mSQJfﬂUS]GD@TQS]I_ﬂ!D'[j,ggj?

ol uiel(his. ]
In what way import quota is better than
tariff?

List the limitations of Herberler’s thus

de No. |
Page8  Code Page9  Code No. : 12984



20. (@) ‘Swepr( Qegssiblene er el
&mﬁ\m@uﬁle&@é@m' - eQenEGS.

‘Balance of payment 1s always balani
Explain.

Or
(<) SwepTH Qsx)iss! Hlanaouf)

soaCamn igaman  Ffceuw o LGuInEldund
LGGaun (PEDE®ET 6l eTEHES-

Explain the different measures Uiy
correct disequilibrium in the balan
payment.
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BCS) DEGREE EXAMINATION, APRIL 2018.
Third Semester

Economics

on-Major Elective — ECONOMICS FOR
COMPETITIVE EXAMINATIONS

those who joined in July 2016 onwards)

ee hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.
pse the correct answer :
GTETLIGT  SEETSE  QUTHETTSTY
.56 565( T &5 (G5 LD g LILILE §Ie1Ss LeTetlum@Lo.
El&T6Y (<) wallg eAHLLbsaT
2 HUISS () Cseanau
are the fundamental starting point
 economic activities.

consumption (b) human wants

production (d) demand



e15) 2 aniplien Apliy @uIdy <y sms)?
(=) Qs 2fips Cunas swng

(<) B3 @ bAuwrs s

(B) @& Osicmars smya

{r ) 88 a6 @uidib walsdr Sidw

wafls  efll@HUUBISmET Heopay  Cewugb

(=) vwenr( (<) UGHTLBIGEN

(@) Cemaeuser ()  @emau Sjananihis

wants. b o
¥ is not a feat
(a) utility ) goods : - ‘ ure of labour?
it is perishable
(c) services (d) all of these

it is mobile

Qongss LLGTLITLTerg) o FFLIL_FIDNG Q}an o aieve 0. clhe) TNC TG

Gt o o 8

@@lﬁﬂmmu e AOS it is a machine not a man

(1) cpempIS (=) Lpsosal | ol

(@) =Beme (/) erdlianipu e GQeugdwins BmE&Hns;.

When total utility 1s maximum, marginal il p 2-oputipsne () wpsassrear

(a) one () zero _ BosBpsran () iewilhasrer
¢ b (d) negative ént is the reward for
Al . labour (b) capital
mieTGeumT o ufl  s@mEST@H Jand
CgLDLDU(b\g;g)IJLJI_l_QJ (d) organization
(1) gmAemadlanmed (<p) GoLOIGE G 55”61’,‘5@61) Beppeys Cumliguiguatar Simanss)
(@) wiagedlane (m) Q@edanid TUGSener

The concept of consumer surplus was doy

(a) Robbins (b) Smith

(¢) Marshall (d) Pigou
Page 2 Code N

2ufigiorer (=) Quidvuimenr

.!IJ. Gehalmen (FF) él;ﬂa;mrrsm
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I'o frame the investment policy, the investor

In the long run, all the firms under ‘should have the knowledge about

competition earns pant- the company

- normal
(a) abnormal ®) the investable funds
(¢) minimum (d) maximum

the investment alternatives
Greiﬂ@j Eﬁmﬁémgfﬂﬁ)@

the capital market
THSSISSTLLTGSLD.

(=) @ruiled CunsEarss fllemeuapld  eThs  @eTprens LT SIhiETg UG
(<) eflomenl GuTsEaUTSS)

(@) ememeLl CuUTEHEGHUTSSI ' D) H(HQHE 2 6HTIGUIED

(FF) sUmed CeenouseT ) Cosflw GCellly ugdynd
is the best example for mond

aeuliL] USSTid
(a) railways (b) airlines | b St
dways (d) postal services |
i ‘hich one of the following is not a money market
M) Qandransudear ai@LUSDE, (N ity

u@[ﬁ]u &@@965)661 (ONINT

treasury bill
Geuer(HIb.

national savings certificate

(=) Ppeuadams

(<) poed® GsIws salgul Bl epen certificate of deposit

(@) s wrhy euplsamar

commercial paper

() epogen spaguiman

Code Nou i Page 5 Code No. : 12988
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(<2) Gonbs 0sd elmare; edfular cuepTumDEET

wmeneu ?

PARTB — (B x5= 925 marks)

. g 0 ).
tions, choosing either (a) or ( -
Answer ALL question What are the Ilimitations of law of
Answer should not exceed 250 words. diminishing returns?
11. (=) LIS GTLITL g 65T GULE@ETS S 0I5 feopaps  Curiy eamred eranan?  iGen

Explain the nature of utility. SETENIDEHENCTS SN,

What is perfect competition? State its
Or features.
N LT EEnETE dh W
(<) QscraipBar LaCap et . | Or
: ifications of wes
State the different classiiic faor  wpompflenwulear @Quaysmers &Hilgs

12. (=) Ners@s - Qurgsl Lwerh. @ mdl PCY S

Lweur®. Point out the characteristic features of

Explain : Total utility, Marginal utilitys oligopoly.
Blevoowmer eumeumil uLsSlrhiseaflenr euamasmen

aﬁ]me%@as.

Or

T CeumT aTEFLD - (1 GO eSS
() piarbenn Explain the different kinds of fixed income

! surplus. .,
Write a note on consumer Surp securities.

13. (=) Heogder é\rpu&\u@qasemeﬂé; GHUA@. or

Point out the characteristics featuron ) wenansaflen LOCam cuMSILITHGEMETE Fnnis.

Or State the various categories of real estates.

Page 6 Code Nol Page 7 Code No. : 12988



PART C — (6 x 8 = 40 marks)
(1) e awplnlern Gamméewurisamer < rmiis.

Answef ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words. xamine the salient features of labour.
16. (=) weig @9®I'JU§@@T @ETTEIFU IS Or

Ul iqwel (s () Ceuemmamenoiien Gephg Qe elmere) 6dld)

List down the salient features of hull Qrwdu@eusHETeT & 1561
TJ6WT RISET WITEnaEL ?

wants.

" What are the causes for the operation of the

() GooaBdnED. poafiped e Hul law of diminishing returns in agriculture?
Qgmmiene Qauef&baremis.
W) Bepes Gumiguiear & on BHpcuasdear

Bring out the relationship between W | 
swblee ercucummy BlirawmuddasiiLiB g ?

and welfare.

17. (@) Goops G QméBleneors LI How equilibrium of a firm is determined

eNSleans safl eeTSHELD. under perfect competition?

Qtate and explain the law of dimin

marginal utility. Or

B) steurSand crampTe) GTENAT? SIFET SETELOHMET

Or

(=) Camau cueranGar(h erent EpCrréd oAl Ul wel(Rs.

Why does the demand curve

downwards? What is monopoly? List down its features.

Page 8 COde NO. 'I
Page 9 Code No. : 12988



20.

(=)

UG ST 1q.67 BETENLOSHENGET 6 6Tds (5.
Explain the advantages of life insuranca,

Or
wenanser  Barew  (WpHdLigar  eueradl
SMyenT i &Eener edleufl&s.

Elaborate the reasons for the growlh
investment on real estate.
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on-Major Elective — ECONOMICS FOR
COMPETITIVE EXAMINATIONS

those who joined in July 2016 onwards)

ee hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.
pse the correct answer :
GTETLIGT  SEETSE  QUTHETTSTY
.56 565( T &5 (G5 LD g LILILE §Ie1Ss LeTetlum@Lo.
El&T6Y (<) wallg eAHLLbsaT
2 HUISS () Cseanau
are the fundamental starting point
 economic activities.

consumption (b) human wants

production (d) demand



e15) 2 aniplien Apliy @uIdy <y sms)?
(=) Qs 2fips Cunas swng

(<) B3 @ bAuwrs s

(B) @& Osicmars smya

{r ) 88 a6 @uidib walsdr Sidw

wafls  efll@HUUBISmET Heopay  Cewugb

(=) vwenr( (<) UGHTLBIGEN

(@) Cemaeuser ()  @emau Sjananihis

wants. b o
¥ is not a feat
(a) utility ) goods : - ‘ ure of labour?
it is perishable
(c) services (d) all of these

it is mobile

Qongss LLGTLITLTerg) o FFLIL_FIDNG Q}an o aieve 0. clhe) TNC TG

Gt o o 8

@@lﬁﬂmmu e AOS it is a machine not a man

(1) cpempIS (=) Lpsosal | ol

(@) =Beme (/) erdlianipu e GQeugdwins BmE&Hns;.

When total utility 1s maximum, marginal il p 2-oputipsne () wpsassrear

(a) one () zero _ BosBpsran () iewilhasrer
¢ b (d) negative ént is the reward for
Al . labour (b) capital
mieTGeumT o ufl  s@mEST@H Jand
CgLDLDU(b\g;g)IJLJI_l_QJ (d) organization
(1) gmAemadlanmed (<p) GoLOIGE G 55”61’,‘5@61) Beppeys Cumliguiguatar Simanss)
(@) wiagedlane (m) Q@edanid TUGSener

The concept of consumer surplus was doy

(a) Robbins (b) Smith

(¢) Marshall (d) Pigou
Page 2 Code N

2ufigiorer (=) Quidvuimenr

.!IJ. Gehalmen (FF) él;ﬂa;mrrsm
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I'o frame the investment policy, the investor

In the long run, all the firms under ‘should have the knowledge about

competition earns pant- the company

- normal
(a) abnormal ®) the investable funds
(¢) minimum (d) maximum

the investment alternatives
Greiﬂ@j Eﬁmﬁémgfﬂﬁ)@

the capital market
THSSISSTLLTGSLD.

(=) @ruiled CunsEarss fllemeuapld  eThs  @eTprens LT SIhiETg UG
(<) eflomenl GuTsEaUTSS)

(@) ememeLl CuUTEHEGHUTSSI ' D) H(HQHE 2 6HTIGUIED

(FF) sUmed CeenouseT ) Cosflw GCellly ugdynd
is the best example for mond

aeuliL] USSTid
(a) railways (b) airlines | b St
dways (d) postal services |
i ‘hich one of the following is not a money market
M) Qandransudear ai@LUSDE, (N ity

u@[ﬁ]u &@@965)661 (ONINT

treasury bill
Geuer(HIb.

national savings certificate

(=) Ppeuadams

(<) poed® GsIws salgul Bl epen certificate of deposit

(@) s wrhy euplsamar

commercial paper

() epogen spaguiman
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Pagce 4 ode N,



(<2) Gonbs 0sd elmare; edfular cuepTumDEET

wmeneu ?

PARTB — (B x5= 925 marks)

. g 0 ).
tions, choosing either (a) or ( -
Answer ALL question What are the Ilimitations of law of
Answer should not exceed 250 words. diminishing returns?
11. (=) LIS GTLITL g 65T GULE@ETS S 0I5 feopaps  Curiy eamred eranan?  iGen

Explain the nature of utility. SETENIDEHENCTS SN,

What is perfect competition? State its
Or features.
N LT EEnETE dh W
(<) QscraipBar LaCap et . | Or
: ifications of wes
State the different classiiic faor  wpompflenwulear @Quaysmers &Hilgs

12. (=) Ners@s - Qurgsl Lwerh. @ mdl PCY S

Lweur®. Point out the characteristic features of

Explain : Total utility, Marginal utilitys oligopoly.
Blevoowmer eumeumil uLsSlrhiseaflenr euamasmen

aﬁ]me%@as.

Or

T CeumT aTEFLD - (1 GO eSS
() piarbenn Explain the different kinds of fixed income

! surplus. .,
Write a note on consumer Surp securities.

13. (=) Heogder é\rpu&\u@qasemeﬂé; GHUA@. or

Point out the characteristics featuron ) wenansaflen LOCam cuMSILITHGEMETE Fnnis.

Or State the various categories of real estates.
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PART C — (6 x 8 = 40 marks)
(1) e awplnlern Gamméewurisamer < rmiis.

Answef ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words. xamine the salient features of labour.
16. (=) weig @9®I'JU§@@T @ETTEIFU IS Or

Ul iqwel (s () Ceuemmamenoiien Gephg Qe elmere) 6dld)

List down the salient features of hull Qrwdu@eusHETeT & 1561
TJ6WT RISET WITEnaEL ?

wants.

" What are the causes for the operation of the

() GooaBdnED. poafiped e Hul law of diminishing returns in agriculture?
Qgmmiene Qauef&baremis.
W) Bepes Gumiguiear & on BHpcuasdear

Bring out the relationship between W | 
swblee ercucummy BlirawmuddasiiLiB g ?

and welfare.

17. (@) Goops G QméBleneors LI How equilibrium of a firm is determined

eNSleans safl eeTSHELD. under perfect competition?

Qtate and explain the law of dimin

marginal utility. Or

B) steurSand crampTe) GTENAT? SIFET SETELOHMET

Or

(=) Camau cueranGar(h erent EpCrréd oAl Ul wel(Rs.

Why does the demand curve

downwards? What is monopoly? List down its features.
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20.

(=)

UG ST 1q.67 BETENLOSHENGET 6 6Tds (5.
Explain the advantages of life insuranca,

Or
wenanser  Barew  (WpHdLigar  eueradl
SMyenT i &Eener edleufl&s.

Elaborate the reasons for the growlh
investment on real estate.
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